UGC NET 2021 Comparative Study of Religions

Topic:- GP_20NOV_A_SH1

1) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferor 3 3w a1u siiest @ sienR uR gesil o Iaz Sifsie ¢

forgstifera aifere! o: fafdee FaIfencril (A - F) 3 csol &t 3ien iz fenfRil &6t gferordaar - fraur o1 fazor gzga ot 3 ef
FaiferencrIl 3 et et fenfPRil & Jizear 12000 3

JeIfdeEnery - ar faenffn o1 faazor

sreRrenerr | [RenfRil B gfereraar (% )ersa B sizear
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the total sum of the number of girls in College-C, boys in College-D and girls in college-E together?

Fisifeener - C 3 crsfipsil &I, ssifdenern - D @ crsol &I siiR Hsifdencr - E 3 sl & A o1 @ APIbd o= 8 ?

[Question ID = 3576][Question Description = S2_qSNz_PG_GP2_Q01]
1. 3400

[Option ID = 14301]
2. 3800

[Option ID = 14302]
3. 3200

[Option ID = 14303]
4. 3600

[Option ID = 14304]
Correct Answer :-
e 3400

[Option ID = 14301]

2) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.



College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arférr # U a1u snidest @ smenR uR gesil o Ia= S :

forrotifepa aifert ©: fafticar wsIfdencril (A - F) 3 cswml & e iR fRenfil & giereradr - fiRaur o1 faaeur yeqa ol & it
Jreiferencril 3 e et RenfRil &t 2izn 12000 3

aeIfdencrI - arR faenfel o1 faazor

sreRrererr | [Renfiil B yfereraar (% )crsat & sz
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the respective ratio of the number of boys in College-C, the number of girls in College-B and the total number of
students in College-E?

Jraifdencrr - C 3 asal &t Iz, Fsifdencr - B 3 asfip:il &t e siiz asifdencrn - E 3 o frenfRil &t e o1 auor: siepurd = 3 ?

[Question ID = 3577][Question Description = S2_qSNz_PG_GP2_Q02]
1. 45:7:97

[Option ID = 14305]
2. 43:9:97

[Option ID = 14306]
3. 45:7:87

[Option ID = 14307]
4. 43:9:87

[Option ID = 14308]
Correct Answer :-
o 45:7:97

[Option ID = 14305]

3) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200




College | |Percentage (%) of students |Number of Boys

aifért d fu 31U sfims @ MR R gosll @ IR SISt ©

forgotifepa aifert ©: fAafticar aarfdencril (A - F) 3 crswl & e iR Renfil & gfereradr - firaur o faarur yeqa ol & it

Jrsiferencril 3 e et RenfRil &t Jizen 12000 3

HBIfdENCRI - arR faeniekil o1 faazor

srefreerr | [Renflil B yfereraar (% )crsat & sz
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the difference between the number of boys in College-E and the total number of students in College-F?
JalfdenerI - E 3 crsol &l 3z 3k dAstiencrr - F 3 qet fdeni2il &f sz o & a=i sidR 3 ?

[Question ID = 3578][Question Description = S2_qSNz_PG_GP2_Q03]
1. 1640

[Option ID = 14309]
2. 1760

[Option ID = 14310]
3. 1720

[Option ID = 14311]
4. 1680

[Option ID = 14312]
Correct Answer :-
e 1640

[Option ID = 14309]

4) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferept i U 31U 3fipsi @ MR U= Yosll d Iaz ifSe @

forratifeoa anfert ©: fAafticar ssIfdencril (A - F) 3 crswl &l Jiean iR Renfil & gfereradr - firaur o faaeur yeqa ol & it

JraiferencrIl 3 e et RenfRil &t Jizen 12000 3

HBIfdENcRI - arR faenfekil o1 faazor

Freifdenerr | [fenfifen &bt gfereraar (%)

TSt Pt zizear

A 12%

1000




preencrr | [Rrenffit 6 gRtreraar (%)crswt bt Fiz |
B 9% 800
C 26% 1800
D 18% 1200
E 29% 2400
F 6% 200

In which of the following colleges is the total number of students equal to the number of girls in College-E?
forgatifepa fop1 waIfcrencrr 3 ferenfRRil &I et dAwen, FsIfdencrr - E & asfis:l &I e @& wrer 3 ?

[Question ID = 3579][Question Description = S2_qSNz_PG_GP2_Q04]
1. A

[Option ID = 14313]
2. B

[Option ID = 14314]
3. C

[Option ID = 14315]
4. D

[Option ID = 14316]
Correct Answer :-
e A

[Option ID = 14313]

5) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferept A f3U 319 sfidpsl @ 3R Uz gesll @ 3az difsre @

forgstifera aifer! o: fafdeor FaIfencril (A - F) 3 csol &t izen iz fenfRi &6t gferordaar - fraur o1 fazor gzga ol 3 ef
JaiferencrIl 3 et et fenfRRil & Fizear 12000 3

JeIfdenerI - ar faenffn o1 faazor

orifRiencrr | Renfii S gRierdar (%)asal &t iz
A 12% 1000
B 9% 800
C 26% 1800
D 18% 1200
E 29% 2400
F 6% 200

The number of girls in College-A is approximately what percentage of the total number of students in College-B?

FaIferencra - A 3 crsiendl &l vizoan, #Asifdenert - B 3 ferenf2lil &bl ayer Fzean I comer fobden yferera 3 ?



[Question ID = 3580][Question Description = S2_qSNz_PG_GP2_Q05]
1. 50

[Option ID = 14317]
2. 35

[Option ID = 14318]
3. 45

[Option ID = 14319]
4. 40

[Option ID = 14320]
Correct Answer :-
e 50

[Option ID = 14317]

Topic:- GP_20NOV_B_SH1

1) Which parenting style is the one in which parents seem cool and controlling their interactions with their children (low
warmth, high control):

forgotferRaa 3 31 as Dlot AT Ugad (Ucer) 9ictl & =13l Arer - T 319l <l @ AT 31Ul 3id:fp 3 81/ - 9o 3iiR foriqa Yeila aid 3 :
(foraar sptsiion, 3ca foriqur) :

[Question ID = 3581][Question Description = S2_qSNz_PG_GP2_Q06]

1. Authoritative parents/yiférifs® amer - fier [Option ID = 14321]

2. Authoritarian parents/snfermif¥a arar - fdar [Option ID = 14322]

3. Permissive parents/srojsiue e - fiar [Option ID = 14323]
4. Rejecting/Neglecting/Uninvolved parents/3Rdi®R @0l arcl / 3UsT ol drel / 3idsifdd of alol arcl arr - fiar [Option ID = 14324]

Correct Answer :-
e Authoritative parents/yiférpifsa amar - faar [Option ID = 14321]

2) Which of the following assessment methods provides feedback, that is non-evaluative, occurs before or during
instruction, and guides teachers in planning and improving instruction?

forgatfciiRaa vt PeAidel Ul 3 BIsd® Ygrel fop=r SIdT 3, Sil 31R - JcIidol URD Il 3, 36Ie9lel A gd AT IAD SRRIel afed il 3 3R
3oL 9reT el ANSToll Follol 311 333 JLR cllol 3 3eAUD] DI ARGl Bl 3 :

[Question ID = 3582][Question Description = S2_qSNz_PG_GP2_Q07]

1. Summative/=emcas [Option ID = 14325]

2. Criterion-referenced/=isfifa @it [Option ID = 14326]
3. Formative/fsmfuncaas [Option ID = 14327]

4. Norm referenced/3icféfa et [Option ID = 14328]

Correct Answer :-
o Summative/:encaa [Option ID = 14325]

3) Given below are two statements
Statement I: Parents and teachers have a highly significant impact on the maturation aspect of cognitive development

Statement Il: Schemes are an organised system of actions or thought that allow us to mentally represent or "think about" the
objects and events in our world

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 ¢

el - | : Jstrelicaas Rt @ uf¥uddet Usg Uz Hrdr - firar siiz Rigial o1 aga & #cwagef Ysna usar 3

@erel - || : Asrend fepRmail a1 foraml & Fa1fda cravend Bl 3 Sil s sardl gfornm & arqgail silz acoinsil @l #Anif¥e Hu A gfefsifira wwor ar
SWRRD Doll B Alclid A, oA Y 31w frwedl 3 A JE a2 @I ool HIFME :

[Question ID = 3583][Question Description = S2_qSNz_PG_GP2_Q08]

Both Statement | and Statement Il are true/wserwr | aiiz |l Sioit 2er & [Option ID = 14329]

Both Statement | and Statement Il are false/@serwr | 3iiz || Siaif sRicer & [Option ID = 14330]
Statement | is true but Statement Il is false/@emol | A1 8 , fboq @eret |l sRir & [Option ID = 14331]
Statement | is false but Statement Il is true/memwr | sRic &, fboq ®erwr || A= & [Option ID = 14332]

A W N -

Correct Answer :-



e Both Statement | and Statement Il are true/@emr | 3iR 11 Glell i1 & [Option ID = 14329]

4) ldentify the types of cognitive load that make demands during learning
A. Intrinsic

B. Gestalt

C. Extraneous

D. Extinction

E. Germane

Choose the correct answer from the options given below:

3 ASIGIcAD HR D YPRI bl usdlol o3 Sl MPIA D IR HiST R 3 ¢

A. srif¥s

B. sréice

C. s

D. faeia

E. Jora

sifa fou s1e frpeul 9 A A IR DI w6l HIfSIE ¢

[Question ID = 3584][Question Description = S2_qSNz_PG_GP2_Q09]

1. A, B and C only/daet A, B siiz C [Option ID = 14333]
2. B, C and D only/a@5aa B, C sfiz D [Option ID = 14334]
3. A, Cand E only/aaea A, C iz E [Option ID = 14335]
4. C, D and E only/asaer C, D siiz E [Option ID = 14336]

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 14333]

5) Match List | with List I

List | List Il
Erik's stages of Psychosocial Approximate
Development Age
- A I. Young
A. Basic trust versus Basic mistrust
adulthood
Il. Late
B. Initiative versus Guilt
adulthood
C. Intimacy versus Isolation lll. 3 to 6 years

IV. Birth to 12-

D. Ego integrit Despai
go integrity versus Despair 18 months

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l

(cf¥e & FeiRIENRID fRIpRT & azvl) (aafoore 3Ry )

A. diiferes Rreart seat difere sifdrart |. gd @RIFmar

B. uscl dottat SIa Il. arg & arzwar

C. 3[ARSIAT Tl ThIhbIbuT . 33 6 ad

D. 3183 AcATGTSOT ToIH G IV. St @ 12 - 18 Fdlor

il fou s1e frseul 3 3 A8 IR gfor ¢

[Question ID = 3585][Question Description = S2_qSNz_PG_GP2_Q10]
1. A-lV,B-U, C-l,D-U

[Option ID = 14337]
2. A-Ul,B-l, C-ll,D-lv



[Option ID = 14338]
3. A-L,B-ll, C-lV, D-lll

[Option ID = 14339]
4. A-l, B-lv, C-lL, D-l

[Option ID = 14340]

Correct Answer :-
e A-LV,B-l, C-l,D-U

[Option ID = 14337]
6) When we design the experiment in such a way that the variations caused by extraneous factors can all be combined
under the general concept of "chance", it represents which principle?

S g fepfl udlerur (varmuf¥dic) o1 fomeilvr 331 YR @ 3 b ar@r PRI GRI 3cusd faficerarsii (df¥ueizn) ol eI (aiz1) &l ARIea
AERYN @ 3ideid IS e st Irpar 8, al w1s v Rigia @1 foreuvt @wear 3 ?

[Question ID = 3586][Question Description = S2_qSNz_PG_GP2_Q11]

Principle of randomization/=mefessbiasur @1 Bigia (fdRuc sifw Issasienr) [Option ID = 14341]

Principle of replication/ysrmgfer @1 RBrgia (fdfRmet sifw cfidoret) [Option ID = 14342]

Principle of local control/zemsfter foriqur @1 RBrgia (fif¥uet sifw cliaser weler) [Option ID = 14343]

Principle of operational control/3ifdgicae foriqur @1 Bigia (ff3uet sifw sifuderer wdier) [Option ID = 14344]

AN wN -

Correct Answer :-
® Principle of randomization/=mefesdbiassur @1 Bigia (iR sitw Issanssioer) [Option ID = 14341]

7) Positivism as an epistemological program is characteristic of
SicRMeRT BRigH & U d gragars fpadl fadar 3 ?

[Question ID = 3587][Question Description = S2_qSNz_PG_GP2_Q12]
Social sciences/amenfSip fasier [Option ID = 14345]

Performing Arts/ygefer et [Option ID = 14346]

Natural sciences/ympfere fe=irer [Option ID = 14347]

Legal studies/faférs sreerieor [Option ID = 14348]

A W N -

Correct Answer :-
® Social sciences/xmfed fasior [Option ID = 14345]

8) ldentify the CORRECT sequence of empirical steps in the linear model of the research process

ofter yfepan & 3Raes yfewirer 3 smopnfde arvil & A8 sigiaH 6l usdrel HIfe :

[Question ID = 3588][Question Description = S2_qSNz_PG_GP2_Q13]
1. Sampling — theory — interpretation — collection — validation — hypotheses/yferariet — RBrgia — fordaet — Jisgur — ygifiaszor — yraaseuon [Option ID

= 14349]

2. Theory — hypotheses — sampling — collection — interpretation — validation/Rigia — yraacuslt — yferarrel — favr — fordast — yemuftaszur [Option 1D
= 14350]

3. Validation — theory — hypotheses — collection — sampling — interpretation/gsmvfteszur — Rigia — Yrabeust — o — yferriel — fordaet [Option ID =
14351]

4. Collection — sampling — hypotheses — theory — interpretation — operationalization/sEu — YyferRrIel — Yraawcusr — RBigia — fordaer —
JAfpRIcarchanul (3Mmvmeicisane) [Option ID = 14352]

Correct Answer :-

e Sampling — theory — interpretation — collection — validation — hypotheses/yfercrior — Rigia — fordaet — g1 — yamvfianr — yraaeusn [Option 1D
= 14349]

9) Which of the below mentioned approaches fall under the Quantitative Approach?
A. Simulation approach

B. Projective technique

C. Inferential approach

D. Depth interview

E. Experimental approach

Choose the correct answer from the options given below:

forgotferR3ae 3 31 Dot A ANPRI AGIIHD ABPEEP o 3ideia 3 ?
A. arggvr sifépra (ATSFHCIeroT TYIe)

B. gerdl awmofie (Qeifdea eaofias)

C. srgpnfore 3ifEE (3oBIIRICT Tye)



D. s1s01 AIgIIcDR

E. grIf® ifdenr

il f3u a1 fraseul 3 A W& IR BT Il BRI :

[Question ID = 3589][Question Description = S2_qSNz_PG_GP2_Q14]

1. A, Cand E only/daet A, C 3iiz E [Option ID = 14353]
2. B, C and E only/dsaet B, C siiz E [Option ID = 14354]
3. B, C and D only/daer B, C siiz D [Option ID = 14355]
4. A, B and C only/dsaet A, B siiz C [Option ID = 14356]

Correct Answer :-
e A, CandE only/aaet A, C iz E [Option ID = 14353]

10) Match List | with List Il

List | List Il

A. Ex post facto I. Finding a solution for an immediate problem facing a society or an industrial/business
Research organisation

B. Applied Research Il. Related to some abstract idea(s) or theory

C. Conceptual Research [lll. Development of hypotheses rather than their testing

D. Exploratory Research [IV. No control over variables, reports only what has happened or what is happening

Choose the correct answer from the options given below:

It -1 Bt el -1l A gakma Hifde

et -1 et -1l

A. orRifaz ||, it Jrerrst srerar siienf3re / RMaNRI FoToel B AT

ofler Sul-erd ArcIfeld JAIRAT DI AAIEGT GGoll

zf'la TTL 1. o=t g R (i) srerar Rigia 24 it

C.

rigercas ||l adigror @ Ferrel Uz gradsedeit ol iRt

orTer

D. @eadt  |IV. =Rl uz @I foriqur o1él, dac 3= &I SeIPR! Sar 3 Sl 8l bl
ofex @& areran 31 381 3

il 3w o1 el 3 A At I gfom :
[Question ID = 3590][Question Description = S2_qSNz_PG_GP2_Q15]

A-lV, B -L, C-llL, D -l [Option ID = 14357]
-1ll, B -1I, C -1, D -IV [Option ID = 14358]
IV, B -1, C -II, D -1Il [Option ID = 14359]

1.

2. A
3. A
4. A-1,B-lll, C-Il, D -1V [Option ID = 14360]

Correct Answer :-
e A-lV,B-l, C-ll, D -l [Option ID = 14357]

11) Peer-to-peer communication is
HAGE A AADE DT AFYUYT 3 :

[Question ID = 3591][Question Description = S2_qSNz_PG_GP2_Q16]

1. Horizontal/ iferst

[Option ID = 14361]
2. Convoluted/3afera

[Option ID = 14362]
3. Non-transactional/3Iz - Jiasif¥s

[Option ID = 14363]
4. Authoritarian/siferarzarct

[Option ID = 14364]

Correct Answer :-
e Horizontal/giferst

[Option ID = 14361]

12) The main challenges of grapevine communication are:
A. Its formal nature
B. Distortion

C. Misunderstanding



D. Source anonymity
E. Conformity

Choose the correct answer from the options given below:

SIOIYAIG JFFYUCT Bl Faou1 gollferai 3 ?

A. s3rchl siiuanf¥e ggfer

B. fersuur

C. srcrawset

D. Ja sfoimpica

E. sropeudr

ofid o s1u fwseal & A A8} IR BT <RIl BT :

[Question ID = 3592][Question Description = S2_qSNz_PG_GP2_Q17]

. A, Band C only/dact A, B 3iiz C [Option ID = 14365]
. B, Cand D only/daea B, C siiz D [Option ID = 14366]
. C, D andE only/a3qe C, D siiz E [Option ID = 14367]
. A, Cand D only/a@act A, C 3liz D [Option ID = 14368]

A W N -

Correct Answer :-
e A, Band C only/aaa A, B siiz C [Option ID = 14365]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Students do not form part of the media audience
Reason R: Due to the all-pervasive digital technology, students have become interactive media users

In light of the above statements, choose the correct answer from the options given below

il 3t werel fRu s1e 3@ uep sifdraperst (Assertion A) @ %u 3 iz ¢RI 3@ PRYT (Reason R) & o 3 :
sifdrperot (A) : frenell, sfifar - ofiar @ swer oidl &

@Rt (R) : ad - cas B3fca Qef3rbl & Gerzdamu feneff soa: fRpzmefier #fif3en geisiaf gt s 3
IWRITP PYall D el A, ofld Bu faaseal 3 A A8 Iar o1 aRIe1 Hifste :

[Question ID = 3593][Question Description = S2_qSNz_PG_GP2_Q18]

. Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 311 8 3liz (R), (A) &t 3 =en & [Option ID = 14369]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) 31 &t & uog (R), (A) & 38 = o8t 8 [Option ID = 14370]
. Ais true but R is false/(A) e 3, aftpar (R) sri=r @ [Option ID = 14371]

. Ais false but R is true/(A) sricx 3, cifdpet (R) 31 3 [Option ID = 14372]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 2 2 3iR (R), (A) &t 38t mezn 3 [Option ID = 14369]

14) ldentify the CORRECT sequence of the following communication forms:
A. Mass

B. Public

C. Group

D. Inter-personal

E. Intra-personal

Choose the correct answer from the options given below

forgatifepa @ - Fasul @ Al siglaa bl usdre Hifse ¢
ol - AT
SToldl

o

A.

B.

C. w8
D. siaz - Jaftpd
E.

3fodl: - dRARRPD
ofix feu a1 fameul i A A8 Iz b1 RIel BT :



[Question ID = 3594][Question Description = S2_qSNz_PG_GP2_Q19]

1. A, D, E, B, C [Option ID = 14373]
2. D, E, B, C, A [Option ID = 14374]
3. E, D, C, B, A[Option ID = 14375]
4. B, C, A, D, E [Option ID = 14376]

Correct Answer :-
e A D, E, B, C[Option ID = 14373]

15) Match List | with List Il

List | List Il

Types of noise in communication/Characteristic feature

A. Physical I. Barriers within the sender or receiver
B. Physiological 1. Wandering thoughts

C. Psychological lll. Use of jargon

D. Semantic IV. Mechanical distortion

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSie :

xet -1 rxeh -1

(T 3 9k D YDbR) (3ifdreTigdTIe fadraars)

A. oy |. QU AT SBUIdl @ HEA AT
B. 9Rl: fapica® 1. sperorefier ferare

C. Feifsnford 1. fafdree - orssrachl @1 gRIleT

D. orecreffersiror IV. anfoqa fersuvr

il 3w o1 fcul 3 A At I gfom :
[Question ID = 3595][Question Description = S2_qSNz_PG_GP2_Q20]

A -1V, B -1, C-Il, D -lll [Option ID = 14377]
A-l, B -ll, C-lll, D -1V [Option ID = 14378]
A-lll, B -1V, C -1, D -1l [Option ID = 14379]
A-ll, B -lll, C -1V, D -I [Option ID = 14380]

AW N =

Correct Answer :-
e A-IV,B-I, C-Il, D-lll [Option ID = 14377]

16) The incomes of Ravi and Kavita are in the ratio 2:3 and their expenditures are in the ratio 3:5. If each saves ¥ 100,
then Ravi's income is

A 3fiz ofder &1 31 2 @ 3 @ 3rgurd 3 3 3R IoId R I 3iourd 3 @ 5 3 3PR yRw ¥ 100 wad o 3 dl A dl smra 3 ¢

[Question ID = 3596][Question Description = S2_qSNz_PG_GP2_Q21]
1. 2200

[Option ID = 14381]
2. 3600

[Option ID = 14382]
3. 3400

[Option ID = 14383]
4. 100

[Option ID = 14384]
Correct Answer :-
e 3200

[Option ID = 14381]

17) The new cost of a mobile which has been discounted by 15% is ¥ 3230. What was the cost of the mobile originally?
15 yferora & g o A1er Aldrse @I ol e X 3230 3 Hiarsel oI YRS Jed a=r o ?

[Question ID = 3597][Question Description = S2_qSNz_PG_GP2_Q22]
1. 3675

[Option ID = 14385]
2. 3650

[Option ID = 14386]
3. %3600

[Option ID = 14387]
4. %3800

[Option ID = 14388]



Correct Answer :-
o 33675

[Option ID = 14385]

18) The product of two positive consecutive odd integers is 1 less than six times their sum. One of the integers is
Sl "olIcId BHPIA AR Yuifas T IUIeIbe, Iold APThel D 6 - In A 1 A & Sloil 3 A v yuife 3 :

[Question ID = 3598][Question Description = S2_qSNz_PG_GP2_Q23]
1.7

[Option ID = 14389]
2.9

[Option ID = 14390]
3. 15

[Option ID = 14391]
4. 13

[Option ID = 14392]
Correct Answer :-
o 7

[Option ID = 14389]

19) Given below are two statements
Statement I: A number that has factors other than 1 and itself is called a composite number
Statement Il: 23 is the only odd prime number

In light of the above statements, choose the correct answer from the options given below

il ol @l fdu sre 3 ¢

ool - | ;v A, RSraet 1 3k asizen =i & suade i 8, U AMBe FeAT AT AYTh AW B Sl 3
@l - || : daet 23 & v fauet w6 =0 3

JURITP Dol D 3Tl 3, ol fSu 31u fameul 3 A A8l 3= @1 =6t HifSTe &

[Question ID = 3599][Question Description = S2_qSNz_PG_GP2_Q24]
1. Both Statement | and Statement Il are true/aerer | 3ii2 |1 Sleil e &

[Option ID = 14393]
2. Both Statement | and Statement Il are false/a@ermr | 3iz || Glail sRicT &

[Option ID = 14394]
3. Statement | is true but Statement Il is false/@eror | 31 3, ifdbor dert || sRiT 8

[Option ID = 14395]
4. Statement | is false but Statement Il is true/aeror | arica 3, Afdper aweret 1 Jdcer 3

[Option ID = 14396]
Correct Answer :-
e Both Statement | and Statement Il are true/wmerer | 3iiz 11 ol 3 3

[Option ID = 14393]

20) Match List | with List I

List | List I

Three numbers Their average
A. 40, 32, 33 |I. 38

B. 35, 36, 40 |ll. 36

C. 33, 36, 39 |lll. 35

D. 30, 38,46 |IV. 37
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 Rreht -

(cfie1 Fizeme) (SotepT 3R (Iizs=) )
A. 40, 32, 33 . 38

B. 35, 36, 40 1. 36

C. 33, 36, 39 Il. 35

D. 30, 38, 46 IvV. 37




offa fou o1 frpeul 3 3 A I gforw ©

[Question ID = 3600][Question Description = S2_qSNz_PG_GP2_Q25]
1. A-IV,B-1,C-1l,D-1lI

[Option ID = 14397]
2. A-1I,B-1IV,C-1,D-1ll

[Option ID = 14398]
3. A-1L,B-1V,C-1I,D-1

[Option ID = 14399]
4. A-IV,B-1l,C-1ll,D-1

[Option ID = 14400]
Correct Answer :-
e A-IV,B-1,C-Il,D-1ll
[Option ID = 14397]

21) Advertising "Testimonials” are frequent instances of this fallacy
'gaAIu1 I fdsiue @l fordeifciiRad 3 3 fopaa Sy o> agar ol dIcl IGI8WT & ?

[Question ID = 3601][Question Description = S2_qSNz_PG_GP2_Q26]
1. Argumentum ad ignorantiam (ignorance)/3iefdiocat Bs sooilfoesa (3rroldr)

[Option ID = 14401]
2. Argumentum ad Misericordiam (appeal to pity)/smediocs us ifsmifSRier (eI &I E)E)

[Option ID = 14402]
3. Argumentum ad Populum/se{ficea s urgets

[Option ID = 14403]
4. Argumentum ad Verecundiam (authority)/sme=fdlocat us Rypfosem (YIfidR)

[Option ID = 14404]
Correct Answer :-
e Argumentum ad ignorantiam (ignorance)/smsdiocd us sooifoeamEl (3ISToeldn)

[Option ID = 14401]

22) If 'some women are writers is true, which of the following codes are CORRECT
A. 'All women are writers' false

B. 'All women are writers' is true

C. 'No women are writers' is false

D. 'Some women are not writers' is undetermined

Choose the correct answer from the options given below:

afe ' o Afdars afRaem § aca 3, a foraferRaa 3 A oler A o A8 & ?
A. ‘it aifdemd cifgerd 3 sriea 3

B. 'w3it s1fdcme cifRgome & aea 3

C. '@ afden aRaew®r off 3’ sr1ca 3

D. 'go afdend cffgen ol & siforerifya &

il fou s1e frpeul 3 A I IR DI TI6T HIfSIE ¢

[Question ID = 3602][Question Description = S2_qSNz_PG_GP2_Q27]
1. Aand B only/@act A siiz B

[Option ID = 14405]
2. Band C only/d@aer B siiz C

[Option ID = 14406]
3. Cand D only/dae C siiz D

[Option ID = 14407]
4. Band D only/dac B siz D

[Option ID = 14408]
Correct Answer :-
e Aand B only/dact A 3i B
[Option ID = 14405]



23) Which of the following code correctly represents the figure and mood of the argument?
No musicians are Italians

All barbers are Musicians

Therefore, No barbers are Italians

Choose the correct answer from the options given below

forgotferRaa 31 3 PBlel AT Gc AT B PR dUT YPR Bl A3l foreuvr asar 37
I Foflamr secfl ®r ofél 3

Mt ond FeliaeR &

3IeT: I olré sceil @I o1dl 3

[Question ID = 3603][Question Description = S2_qSNz_PG_GP2_Q28]
1. EAE-1/$u$-1|

[Option ID = 14409]
2. EAE-I/$ug- I

[Option ID = 14410]
3. EAE-II/Ses- Il

[Option ID = 14411]
4. EAE-IV/§ug- IV

[Option ID = 14412]
Correct Answer :-
® EAE-I1/§dus-|
[Option ID = 14409]

24) If a jar is temporarily removed from its locus the non-existence of the jar on the floor is
afe fpft sacdaret (siR) @1 srens WUA 1ol Feurel (clibr) A el f3ar sie q wef uz addrer T soif3dra 3 :
[Question ID = 3604][Question Description = S2_qSNz_PG_GP2_Q29]

1. Upamana (Comparison)/3udrel (dcioll) (eif¥sior)

[Option ID = 14413]
2. Arthapatti (Implication)/srerfufer (forfaaref) (socfiadoror)

[Option ID = 14414]
3. Anumana (Inference)/ 3ol (soW31)

[Option ID = 14415]
4. Anuplabdhi (Non-cognition)/ siequcifeer (ofot - dfdo19ror)

[Option ID = 14416]

Correct Answer :-

e Upamana (Comparison)/3udiol (dqctol) (cbaifsior)
[Option ID = 14413]

25) The knowing self knows objects through the instrumentality of the Indriyas and the existence of the Indriya, is proved
by

ST SRI aq3il @ sfogdl @ ATeel SR SITel Sl 3 3R sfogil @1 sif¥ara yanfora e sirar 3

[Question ID = 3605][Question Description = S2_qSNz_PG_GP2_Q30]

1. Arthapatti/sterfufer grr

[Option ID = 14417]
2. Anuplabdhi/ srquetfeer gt

[Option ID = 14418]
3. Anumana/3ig#iel GRI

[Option ID = 14419]
4. Upamana/3udiiel gRI

[Option ID = 14420]
Correct Answer :-
o Arthapatti/smerfufer grar
[Option ID = 14417]

26) Match List | with List Il

IList | List Il




(Activity) (File Type)
IA. Recording a song to play on an iPod l. .zip

B. Saving a video Il. .mp3

C. Sending a photo to someone using your mobile|lll. .mp4
D. Compressing a folder of files IV. .jpeg

Choose the correct answer from the options given below:

gl -1 @ 3 -1l A Fgafera Hifste ¢

oret -1 Rreh -1l

(foge - @erra) (wrIscl & goR)
A. gD 3ré dis uz sfia seior @ fere R¥ais war I. .35 ané ot
B. v difsear Adra won Il. .oar di 3
C. 31Ul Adrsel Bl YAPI B U b2l & WIeT fston ll. .oa di 4
D. U BIEA @ BIcs: Bl BIYA Bl IV, .31 di 5 sit

il feu aru faasedl 3 A 8 3R gforu :

[Question ID = 3606][Question Description = S2_qSNz_PG_GP2_Q31]
1. A-I,B-ll,C-1,D-IV

[Option ID = 14421]
2. A-IV,B-1Il,C-1I,D-I

[Option ID = 14422]
3. A-1ILLB-Il,C-1V,D -1

[Option ID = 14423]
4. A-11,B-11I,C-1IV,D-I

[Option ID = 14424]
Correct Answer :-
e A-I,B-Ill,C-1,D-1IV
[Option ID = 14421]

27) Kavita uses a Wifi adapter to connect the computer to an interactive whiteboard.

Which one of these statements is false?

BT T arf - GBI TSR BT PRI B Bl U ciicAipnofier arsedls 3 siisol 3 ol 3 forolifpa werel 3 3 Bla 3R 8 ?

[Question ID = 3607][Question Description = S2_qSNz_PG_GP2_Q32]
1. Wifi has a greater range than Bluetooth/zIse IS @1 35 scf cer 3 Surer 8ir 8

[Option ID = 14425]
2. Wifi signals are capable of passing through solid objects/ar$ wr§ @ Risorct ol uarelf & dta 3 off uR w2ol 3 9wl &

[Option ID = 14426]
3. Bluetooth has a greater range than Wifi/sciger @t 35t ar$ - wr$ 3 serret aiar 3

[Option ID = 14427]
4. Bluetooth signals are capable of passing through solid objects/scp ¢l @ Roiet 311 ucrelf @ dfa 3 oft ur w2 3 et &

[Option ID = 14428]

Correct Answer :-
e Wifi has a greater range than Bluetooth/zrse €IS @I 331 sc],c¥ 3 SRACT 8l &

[Option ID = 14425]

28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Internet is very beneficial to students in all aspects

Reason R: The Internet opens doorways to a wealth of information, knowledge and educational resources thereby increasing
opportunities for learning in and beyond the classroom

In light of the above statements, choose the correct answer from the options given below

oiid ol Pl fGu 3w 3 @ U Ifdrdeat (Assertion A) @ ¥u 3 3R 2RI 3D PRI (Reason R) @5 »u 3 :
sifdrperet (A) @ seole feneffl & fere il efScmlur A aga swurer aner 3

®RuT (R) : sedic Faesil, ol 3R 9igifdTe - JArersll Bl YgRar oI $R IgIfed o & PRI B & 3062 AT WA W APHH D agol D
3AAZ YO 2l 3

SURITh Doil D Il A, ofld fGu famcdl 3 A 7l 3a= &1 wRIel Hifsrw :



[Question ID = 3608][Question Description = S2_qSNz_PG_GP2_Q33]
1. Both A and R are true and R is the correct explanation of A/(A) 3l (R) gleil 31 2 3z (R), (A) &t 3 careen 3

[Option ID = 14429]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 31 & udoq (R), (A) 6 3 w=men ot 8

[Option ID = 14430]
3. Ais true but R is false/(A) e 3, aifdper (R) 3ricr 3

[Option ID = 14431]
4. Ais false but R is true/(A) sric 3, cifepal (R) 31 2

[Option ID = 14432]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 311 & 3i2 (R), (A) &I 3l =iz 8

[Option ID = 14429]

29) Identify the CORRECT order of the following data transfer rates measured in bits per second (bps) ranked from largest
to smallest

A. 1500 kbps
B. 1500 Mbps
C. 1 Mbps
D. 1 Gbps

Choose the correct answer from the options given below

it gfr ABs (@t o w2r) 3 A 51T 3T - SHEaIRVI - T D §3 A VI A TP B UsHIe! BB
A. 1500 o t di v

B. 1500 war & df o1

C. 1 ga & dt v

D. 1 oft &t ot vt

il fou s1u frapeul 3 2 & 3R BT a6l HIfSIE ©

[Question ID = 3609][Question Description = S2_qSNz_PG_GP2_Q34]
1. B,D, A, C

[Option ID = 14436]
2. D,B,A,C

[Option ID = 14433]
3.B8,D,C, A

[Option ID = 14434]
4. B,A, D, C

[Option ID = 14435]

Correct Answer :-
e D B,AC

[Option ID = 14433]

30) Given below are two statements
Statement I: You can add attachments of any file size to an email.
Statement Il: You can only send emails from a laptop computer.

In light of the above statements, choose the correct answer from the options given below

il &1 weror Ru are 3 :

@era - | : 3mu et 3ht Brdar A1EST @I S 3 3icaAdc D WU A SIS ADA &
el - |l : 3 dact &y - 3u wIRgez A & e NS ADA 3

SURITS el B 3MIelid #, ofi fGu fpcul 3 A I IR BT TR DI :

[Question ID = 3610][Question Description = S2_qSNz_PG_GP2_Q35]
1. Both Statement | and Statement Il are true/erer | 3ii2 || Slell 3 &

[Option ID = 14437]
2. Both Statement | and Statement Il are false/@ermr | 3iz || Glail sRiT &

[Option ID = 14438]



3. Statement | is true but Statement Il is false /et | 31 2, cifdbor @werat || 3RIT 2

[Option ID = 14439]
4. Statement | is false but Statement Il is true/aeret | srRica 3, aifdbet weret | Jer 3

[Option ID = 14440]

Correct Answer :-
e Both Statement | and Statement Il are true/wmerm | 3iiz |1 Sloll 3 &

[Option ID = 14437]

31) What are essential for the formation of photochemical smog?
A. Oxides of sulphur

B. Oxides of Nitrogen

C. Volatile Organic Compounds

D. Water Vapour

E. Sunlight

Choose the correct answer from the options given below:

gPI9I - IRIRIfOIP &fd - PIee D dolol D 1T Blol A HTARADB & ?
A. IcB3 D sifass

B. oIEgisial @ sifass

C. aruefia erdfore iifdrem

D. Sterarsu

E. 3 - goorer

il feu aru faedl 3 A A8 IR D1 WRIet B :

[Question ID = 3611][Question Description = S2_qSNz_PG_GP2_Q36]
1. A, Band Conly/@act A, B 3z C

[Option ID = 14441]
2. A, B, Cand D only/dae A, B, C 3iiz D

[Option ID = 14442]
3. B, C, D and E only/daer B, C, D iz E

[Option ID = 14443]
4. B, Cand E only/a@ac1 B, C iR E

[Option ID = 14444]

Correct Answer :-
e A, Band Conly/dac A, B siiz C

[Option ID = 14441]

32) What is the CORRECT sequence of occurrence of various atmospheric layers from earth's surface?
A. Thermosphere

B. Stratosphere

C. Mesosphere

D. Troposphere

Choose the correct answer from the options given below

gedl & Adas A HuR faftieor arpiscila udl &b sufderfer or 38 @of = 8 ?
A. amaavsda

B. mramasvsa

C. seaavS

D. siv@ose

il fou s1u frpeul 3 A & IR BT a6l HISIE ¢

[Question ID = 3612][Question Description = S2_qSNz_PG_GP2_Q37]
1. D,B, A, C

[Option ID = 14445]



2. D,B,C, A

[Option ID = 14446]
3.B,D,C, A

[Option ID = 14447]
4. C,B,D, A

[Option ID = 14448]
Correct Answer :-
e D B,AC

[Option ID = 14445]

33) Which one of the following climate change proxies is not the terrestrial biotic climatic proxy?
forgatferRaa 3 3 Plat sterary uf¥ader yferadft, uif¥fa Sia srerary gferad) ot 3 ?

[Question ID = 3613][Question Description = S2_qSNz_PG_GP2_Q38]
1. Boreholes/fig - ff5g (4R - alc=d)

[Option ID = 14449]
2. Leaf physiology/uq - @bt

[Option ID = 14450]
3. Tree ring/qs1 - acrRx

[Option ID = 14451]
4. Pollen and spore analysis/uzermur vd disiy frecstor

[Option ID = 14452]

Correct Answer :-

e Boreholes/fg - fésg (dR - lc21)
[Option ID = 14449]

34) A high amount of BOD (Biochemical Oxygen Demand) in a water body represents
A. Highly Polluted Water

B. Presence of a large amount of organic materials

C. Presence of good amount dissolved oxygen

D. Severely limited aquatic life

Choose the correct answer from the options given below:

s SIcorT 3 & 3l €1 (SiaRRIrIfora - sifa=fistol - Jifs1) 6 sifere sy yofdfa o=l 3 ¢
A. srcafires gefta st

B. wrdford ucrelf &t Srer gy b suf¥-erfer

C. R sifa=fisret &t srcdl gy & sufFerfer

D. srcaferes Mifdra siclir Sfiaor

il f3u s1e fraseul 3 A A IR BI Il BRI ©

[Question ID = 3614][Question Description = S2_qSNz_PG_GP2_Q39]
1. A, B, Cand D only/A, B, C 3z D

[Option ID = 14453]
2. B, Cand D only/@aa B, C siiz D

[Option ID = 14454]
3. A, Cand D only/@ae A, C 3z D

[Option ID = 14455]
4. A, Band D only/daa A, B aie D

[Option ID = 14456]

Correct Answer :-

e A B,CandDonly/A, B, C3iz D
[Option ID = 14453]

35) Which one of the following is a component of a Sewage Treatment Plant (STP)?
forgotferfR3aa 3 3 Dol U FeTsicl - foreuvt - FRiq (Ta & i) @1 v aew 3 ?

[Question ID = 3615][Question Description = S2_qSNz_PG_GP2_Q40]
1. UV source/?, dl. 3



[Option ID = 14457]
2. lon exchanger/sirIor vaicisiz

[Option ID = 14458]
3. Grit chamber/aci®ur - yors

[Option ID = 14459]
4. Cyclone/3msdrcitet

[Option ID = 14460]

Correct Answer :-
e UV source/z, dt. 3a

[Option ID = 14457]

36) According to the NEP- 2020, a Master's Programme may be of:
A. one-year duration

B. two-year duration

C. three-year duration

D. four-year duration

E. five-year duration

Choose the correct answer from the options given below:

wal. 5. Ul - 2020 & 3[GRIR, IAMADIIR UIGRIDI 3l ADI 3 &
A. v ad & smafr a1

B. <1 o bl sraf?r @1

C. ot adf <t sraf?r a1

D. ar ad i srafer o1

E. ufa ad & smaf?r a1

il feu sru faredl 3 A A8 IR D1 WRIel B :

[Question ID = 3616][Question Description = S2_qSNz_PG_GP2_Q41]
1. A, B and E only/d>act A, B siiz E

[Option ID = 14461]
2. A, B and C only/d@aer A, B iz C

[Option ID = 14462]
3. B, Cand E only/@aa B, C siz E

[Option ID = 14463]
4. Band D only/a@ac B siz D

[Option ID = 14464]

Correct Answer :-
e A, BandE only/@ae A, B3R E

[Option ID = 14461]

37) According to NEP-2020, the Higher Education Commission of India (HECI) will be set up:

A. to replace the UGC for maintaining quality and standard in higher education institutions

B. as an umbrella institution to look into regulation accreditation, funding and academic standard
C. as aregulatory authority to maintain quality and standard

D. to maintain academic standard of higher education institutions

Choose the correct answer from the options given below:

wal. 3. Ul. 2020 @ S6RIR, $IRA I 3 {91811 IRIST Fenfire fp= Simen :

A. 350 o1 3ca dieifdres Awesil 3 SUIadl vd ¥R Follt 3ol D ferw yfer-emast
B. faformtel, Yrariol, forf2rrer 3iiz Sigifres Faz &l Sxasiret 3q Oqm Az D »U i
C. v fAfoRIEI® Il D WU I VI Ud IR Jollu 3ol D fere

D. 3ca digifdres Azeamsii @ 9igifdres Ia= &l dolle Rdal @ fae

it fou s1e frpeul 9 A I IR DI TI6l HIfSIE ¢



[Question ID = 3617][Question Description = S2_qSNz_PG_GP2_Q42]
1. Aand B only/dact A siiz B

[Option ID = 14465]
2. B, C and D only/dae B, C aie D

[Option ID = 14466]
3. A, Cand D only/daet A, C iz D

[Option ID = 14467]
4. A, B, CandD/A, B, C sz D

[Option ID = 14468]
Correct Answer :-
e A and B only/@act A siiz B

[Option ID = 14465]

38) Match List | with List Il

List | List Il

Regulatory institutions as per NEP-2020  |Responsibilities

A. NHERC |. Academic standards
B. NAC Il. Accreditation

C. HEGC Ill. Regulation

D. GEC IV. Financing

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSre :

oxet -1 ot -l

(ot 5. Ul. & IGRIR fAformca® Jireri) (c1Rr)

A. goLuaLs.3R.AL |. oteifdrd - IR
B. wor.udl Il. gcarmer

C. vassii. 11l. farformerct

D. sft.s.2ft IV. forférier

il 3w o1 el 3 A At IR gfom :

[Question ID = 3618][Question Description = S2_qSNz_PG_GP2_Q43]
1. A-UILB-I,C-1,D-1IV

[Option ID = 14469]
2. A-Il,B-1I,C-1V,D- |

[Option ID = 14470]
3. A-1L,B-1I,C-1V,D-I

[Option ID = 14471]
4. A-IV,B-1I,C-1II,D-1

[Option ID = 14472]
Correct Answer :-
e A-IILB-Il,C-1,D-1IV

[Option ID = 14469]

39) According to NEP-2020, National Research Foundation (NRF) may be established to
wol.s.Ul. 2020 @ 3R, A 31Io¢iol YferesTol (Tol.31R.ut.) Feftrd fop=m i Aoar 3 @

[Question ID = 3619][Question Description = S2_qSNz_PG_GP2_Q44]
1. Promote doctoral/post-doctoral research/Siac3c 3iiR dike sfacc ot @ YieAsol 3G

[Option ID = 14473]
2. Promote fundamental scientific research/smemagI dsifore olier @I giemfad ol

[Option ID = 14474]
3. Enable universities to establish research laboratories/feafderncrii ot oiter - YRieToncali bl FeIdoel @ Ao Follol 3

[Option ID = 14475]
4. Enable a culture of research to permeate through universities/faeafdemcril 3t ofter Jmpier B wIrd Blot B 018 o8 ALWT Tolloll

[Option ID = 14476]
Correct Answer :-
® Promote doctoral/post-doctoral research/sidac3c 3iiR Ul Sfac3c olitl D YAzl 3

[Option ID = 14473]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R



Assertion A: Higher education in India has limited access particularly in socio-economically disadvantaged areas
Reason R: The research and innovation investment in India is only 0.69% of GDP

In light of the above statements, choose the most appropriate answer from the options given below

ofl 3l Berel fRu st 3@ uap sifdraperst (Assertion A) @ a3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :
aifdrperet (A) © ra 3 I<a - g & Hfda uga 3 fuwm: aREnie - snl¥fe dkEa giql #

BRI (R) : s 3 ofter 3ii? olararR forder Awe Mg 3curg (Sh3lul.) o1 dac 0.69% &

SWRITD Doil B HIClD 3, ofid e fiwcul 3 A Ad 3= &1 Tt Hifste ©

[Question ID = 3620][Question Description = S2_qSNz_PG_GP2_Q45]
1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciail 3t 3 3l (R), (A) &t 3 wmen &

[Option ID = 14477]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil 2l & u3oq (R), (A) &t Al = oidt &
[Option ID = 14478]

3. Ais correct but R is not correct/(A) 3@t @ uw3sq (R) &t oidt

[Option ID = 14479]
4. Ais not correct but R is correct/(A) 3@t o8t 8 udog (R) &t 3

[Option ID = 14480]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) gleil 3@t 8 3k (R), (A) 6t 3@ e
[Option ID = 14477]

Topic:- GP_20NOV_C_SH1

1)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to “unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The early feminist theory ignored among women, the issue of
yrRitte ordlag & Rigia 3 afdcnsii & fowafelRaa 3 A v #E DI seRere @2 &ar sk ?

[Question ID = 3621][Question Description = S2_qSNz_PG_GP2_Q46]
1. Enduring commonalities/3wd Am@meran
[Option ID = 14481]
2. Significant differences/asrayuf ficorart
[Option ID = 14482]
3. Inclusive factors/amoft dR®

[Option ID = 14483]
4. Oppressive elements/gaerRl dra

[Option ID = 14484]

Correct Answer :-
® Enduring commonalities/Aad JeireIAns

[Option ID = 14481]

2)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a 'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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Initially, the feminist theory veered around the problems of

3R & oidtardt Rigia forotferRaa 3 A fpar wer=n @ 3¢ BIS gyt a1 e ?



[Question ID = 3622][Question Description = S2_qSNz_PG_GP2_Q47]
1. Feminists around the world/fde«a #3 @ omRlarct

[Option ID = 14485]

2. North-American middle class white women /33t 3m@if¥cr @ ezt aof 6t «da aAfdeme
[Option ID = 14486]

3. Blacks and Latinos/ 3 siiz ciicfioft afderret

[Option ID = 14487]
4. ldentified women groups in different places/fdor - faroor el w2 fifea afder A

[Option ID = 14488]

Correct Answer :-
® Feminists around the world/frea oz @& amRtarct

[Option ID = 14485]

3)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions’.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The analytical frameworks of western feminists were critiqued by Third world scholars as:

U oIRiaIfRil @ fepdsuvicae Gidl & Jefisn dierl gforn @ fasmell orr bt u 3 & o ?

[Question ID = 3623][Question Description = S2_qSNz_PG_GP2_Q48]
1. they had different societal agendas/fésot - féoor et el wrfadr

[Option ID = 14489]
2. radical and irrelevant/siferarct siiz gRifdrs »u 9



[Option ID = 14490]
3. they had to be repositioned in different contexts/fafdreor et 3t yor:zemuer ool & for@

[Option ID = 14491]
4. they had to fit in a discursive discourse/fddaefier Yader @ de=r

[Option ID = 14492]

Correct Answer :-
e they had different societal agendas/fdreor - firoor m9ieT Jdeft BrRia
[Option ID = 14489]

4)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to “unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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Post-colonial, western feminists were asked to

IR - situforafdre urtirea ordtarf A a=ir sl srRIm ?

[Question ID = 3624][Question Description = S2_qSNz_PG_GP2_Q49]
1. Free themselves from masculinist ideologies/gauarct Rigidl 3t Fa=i &I Feb Dol D e

[Option ID = 14493]
2. Disengage themselves from the idea of Third world woman'./za @1 dizt gform &t aifdemait 3 sicer B2l D fere

[Option ID = 14494]
3. Challenge the Third world patriarchy/fizmt gforr &t ficRraraaar ot goildt ot @ e

[Option ID = 14495]
4. Deconstruct their status as intellectuals/gfgsfidt @ u 3t ameft Reifer @1 oM B0t D ferw

[Option ID = 14496]

Correct Answer :-



e Free themselves from masculinist ideologies/yauarct RBrgidl A ¥®=i Pl b Dol D o

[Option ID = 14493]

5)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we’ of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world’' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The passage speaks of

s aren9r fopaY Adfta & ?

[Question ID = 3625][Question Description = S2_qSNz_PG_GP2_Q50]
1. ldentity issues in feminist studies/em3lard srerrell 3 usaror Al 35

[Option ID = 14497]
2. Authority of western feminist scholars/urgneI siRtact fRigrell o1 giftier

[Option ID = 14498]
3. Experience of Third world feminists/drt gform @ smtaifeRil @1 siopera

[Option ID = 14499]
4. ldeological constructs all over the world/y3t gforr 3t danfse forfdffer

[Option ID = 14500]

Correct Answer :-
® |dentity issues in feminist studies/sm3tarct sreermeil 3 usarer sl 75

[Option ID = 14497]

Topic:- 62CSR_A

1) Hermeneutics is a discipline that deals with



ISR, Dl IMRAT FIh] RIRSAT DAl 3 :
[Question ID = 3776][Question Description = S2_qSNz_PG_CSR_QO01]

Study of society/3wimst @ sierIor [Option ID = 15101]

Study of religion/ewt @t sreerror [Option ID = 15102]

Interpretation of sacred texts/emfsgeil &t wmeen [Option ID = 15103]
Interpretation of rituals/@s@mwst 6t smreen [Option ID = 15104]

A WN -

Correct Answer :-
e Study of society/ st @r siezriol [Option ID = 15101]

2) Identify the approach of Gerardus van der Leeuw to the study of Religion

‘Serged drof 3 ft’ &t et B sreerIor B gfer zfc @ usae -
[Question ID = 3777][Question Description = S2_qSNz_PG_CSR_Q02]

1. Anthropological/ameasmfr [Option ID = 15105]
2. Historical/df@Res [Option ID = 15106]

3. Sociological/amufSi [Option ID = 15107]

4. Phenomenological/guadsmferas [Option ID = 15108]

Correct Answer :-
e Anthropological/sreragmzder [Option ID = 15105]

3) A statement of poet Goethe, "He who knows one, knows none" was applied for the study of religion by

ofd 3l @ 57 DAl DI b 'Sl Td D Sloldl 3, a8 B 018l SIleldl’ Sodiol &3 @ 1eeRIel D fo1g IueIrRIn o -

[Question ID = 3778][Question Description = S2_qSNz_PG_CSR_Q03]
1. Sigmund Freud/Bmais grrs [Option ID = 15109]

2. Mircea Eliade/afskr sems [Option ID = 15110]

3. Martin Buber/auf¢sr gerz [Option ID = 15111]

4. F. Max Muller/ew. da=mgerz [Option ID = 15112]

Correct Answer :-
e Sigmund Freud/Rmdis grrs [Option ID = 15109]

4) The statement "Religion is an ultimate concern” is given by

‘erat 3iferar JBRI 3' A DUl FoID FRI fosan s 3 -

[Question ID = 3779][Question Description = S2_qSNz_PG_CSR_Q04]
1. David Hume/sf&s gt [Option ID = 15113]

2. F. Max Miller/ew 3=t ek [Option ID = 15114]

3. James G. Frazer/aw sft. gaz[Option ID = 15115]

4. Paul Tillich/dfet fefera [Option ID = 15116]

Correct Answer :-
e David Hume/3fds gt [Option ID = 15113]

5) Identify the main feature of a pluralistic society.

Sgerdrars Tt <t ygE faduan usart :

[Question ID = 3780][Question Description = S2_qSNz_PG_CSR_QO05]

1. A society in which people of different faiths do not live a good social life. /% w1, SREI 3oib A RIfp eaT APIRID Siael =idld oét w13 [Option
ID = 15117]

2. Asociety in which people worship one God. /%21 381, SR cllst b $eaz &t yor @2 & [Option ID = 15118]

3. Asociety in which people of different faiths live in a peaceful manner. /%31 3wms1, BRI fAfdiesr e safep orferguf dst 3 & & [Option ID = 15119]

4. A society in which people are atheists. /%1 w161, SRID st sul¥ae & [Option ID = 15120]

Correct Answer :-

e Asociety in which people of different faiths do not live a good social life. /b 2ums1, BRI swId Admcd AP el AP Siidel wdld ol @i & [Option
ID = 15117]

6) Identify a concept from the following which was used by Arnold Van Gennep for the study of rituals

DIHDIVST 5 31ERIoT D o1 3RolIcs dol 3ol of fordotr 3 A v Rigrea o1 yrieT fobem e 33l usdarer Hifste :
[Question ID = 3781][Question Description = S2_qSNz_PG_CSR_Q06]



Rites of passage/2sc sifw W¥st [Option ID = 15121]
Life circle/Sflaet ga [Option ID = 15122]

Religious ceremonies/enfdfa sigpeotor [Option ID = 15123]
Religious customs/enfdfes Sifer-f¥arst [Option ID = 15124]

A W N -

Correct Answer :-
e Rites of passage/sc sifw U3t [Option ID = 15121]

7) "King of the Wood" concept was used by which scholar?

"fper 3ifts g3” I IdcUsit DI YT 3 fdgret of fopan :
[Question ID = 3782][Question Description = S2_qSNz_PG_CSR_Q07]

1. Max Weber/da daz [Option ID = 15125]

2. F. Max Muller/vw. diaat gerz [Option ID = 15126]

3. Soren Kierkegaard /i3 fesasens [Option ID = 15127]
4. James G. Frazer/swa sft. ©sz[Option ID = 15128]

Correct Answer :-
® Max Weber/da1 aaz [Option ID = 15125]

8) Yama-Yami dialogue is found in the

[Question ID = 3783][Question Description = S2_qSNz_PG_CSR_Q08]
Visnupurana/fawpgemer [Option ID = 15129]

Samaved/3mrds [Option ID = 15130]

Yogasutra/=eRyg [Option ID = 15131]

Rigveda/sssdg [Option ID = 15132]

A W N -

Correct Answer :-
e Visnupurana/fawugmor [Option ID = 15129]
9) 'Satkaryavada'is closely related to

[Question ID = 3784][Question Description = S2_qSNz_PG_CSR_Q09]
1. Vedanta/dgrea [Option ID = 15133]

2. Sankhya/ziiz [Option ID = 15134]

3. Nyaya/samrr [Option ID = 15135]

4. Yoga/z=er [Option ID = 15136]

Correct Answer :-
e Vedanta/dgrea [Option ID = 15133]

10) Composer (poet) of the Mahabharata is:

ABHIRA D DBIRIPR 3 -

[Question ID = 3785][Question Description = S2_qSNz_PG_CSR_Q10]
1. Valmiki/arcsfifes [Option ID = 15137]

2. Kapila/@fuer [Option ID = 15138]

3. ISvarakrsna/seeqwr [Option ID = 15139]

4. Krsna Dvaipayana/@mwr gurie [Option ID = 15140]

Correct Answer :-

o Valmiki/areafifds [Option ID = 15137]

11) Birthplace of founder of Arya-Samaj is
SIRIAATST D ATUATUD BT SloHTAT 3 -

[Question ID = 3786][Question Description = S2_qSNz_PG_CSR_Q11]
Tankara/c@r [Option ID = 15141]
Ajmer/as@i [Option ID = 15142]
Ujjain/3ssiet [Option ID = 15143]
Lahore/em&lz [Option ID = 15144]

A W N -

Correct Answer :-
® Tankara/c@r [Option ID = 15141]

12) 'Ramakrishna mission, was founded in the year:



"3GouT f19ret’ bt Ferer 33 af 3 g5 off -
[Question ID = 3787][Question Description = S2_qSNz_PG_CSR_Q12]

1. 1902 CE/1902 $xdt [Option ID = 15145]
2. 1897 CE/1897 st [Option ID = 15146]
3. 1863 CE/1863 $di [Option ID = 15147]
4. 1836 CE/1836 sxdi [Option ID = 15148]

Correct Answer :-
e 1902 CE/1902 $xft [Option ID = 15145]

13) The meaning of 'Aparigraha’ in Jainism is:

Slorersf 3 'sruf¥srs’ ot aref 3 :
[Question ID = 3788][Question Description = S2_qSNz_PG_CSR_Q13]

1. Non-attachment/zisjegfer ot 2xen [Option ID = 15149]
2. Non-absolutism/weifeadm eftran aidt 2xen [Option ID = 15150]

3. Not telling lies/sJg il dietenr [Option ID = 15151]
4. Not killing/am ot @w2om [Option ID = 15152]

Correct Answer :-
e Non-attachment/3issgft ol 3xen [Option ID = 15149]

14) Indrasabha and Jagannathasabha are located in a cave-temple at:

SCAI 3R SIFTGOIILRINI AsT D Il iR I afFerd 3 ©
[Question ID = 3789][Question Description = S2_qSNz_PG_CSR_Q14]

1. Terapura/@Rigz [Option ID = 15153]

2. Aihole/¥ae [Option ID = 15154]
3. Ankai-Tammai/si®rs - dors [Option ID = 15155]

4. Ellora/uciar [Option ID = 15156]

Correct Answer :-
e Terapura/arigz [Option ID = 15153]

15) The language of Jain Anga Canons is:

Siol 3ioT 3Pl bt ey 3 :
[Question ID = 3790][Question Description = S2_qSNz_PG_CSR_Q15]

1. Apabhransa/smsjer [Option ID = 15157]

2. Ardhamagadhi/srgamsrft [Option ID = 15158]
3. Magadhi/amerdt [Option ID = 15159]

4. Saurasent/sie3ieft [Option ID = 15160]

Correct Answer :-
e Apabhransa/smsjer [Option ID = 15157]

16) According to Jainism 'Syadvada’ is also known as

Siclerdd @ SIGIR "RIGIG" DI 33 oIl A 81 Silell SIIe1 3 :
[Question ID = 3791][Question Description = S2_qSNz_PG_CSR_Q16]
1. Caturyama Dharma/arqguiar et [Option ID = 15161]

2. Ratnatraya/zaiger [Option ID = 15162]

3. Anekanta/smiwmroa [Option ID = 15163]
4. Saptabhangi/zmsisft [Option ID = 15164]

Correct Answer :-
e (Caturyama Dharma/=ngais et [Option ID = 15161]

17) Identify the period of the oldest Jain Idol found at Lohanipura

clisleilyz A YA Yrelioladt Stol Jfel 31 oIt &I 3 :
[Question ID = 3792][Question Description = S2_qSNz_PG_CSR_Q17]
1. Maurya kala/dfwrer [Option ID = 15165]

2. Gupta kala/sparer [Option ID = 15166]

3. Palavansa/urcrdgr [Option ID = 15167]
4. Hoyyasalavansa/araigrcider [Option ID = 15168]

Correct Answer :-



® Maurya kala/sikicrer [Option ID = 15165]

18) Identify the person who discovered Sarnath Pillar in 1905?

3A Aaftb &b usare o3 1ol 1905 $ 3 Actrer Fass &bl st o off :

[Question ID = 3793][Question Description = S2_qSNz_PG_CSR_Q18]
. George Turner /st oz [Option ID = 15169]

. Oertel/sieer [Option ID = 15170]

. Moriz Winternitz/aif31 fdscforcst [Option ID = 15171]

. Hermann Oldenberg/&or siicsoreef [Option ID = 15172]

A wWw N =

Correct Answer :-
e George Turner/sist cofz [Option ID = 15169]

19) ldentify the most appropriate option that is correct regarding the expansion of Buddhism in Indian Sub Continent:

HR(RI SUABISIT # dig et & YRIR @ Ader d Aalfire Suge fwea & usdame @3 :

[Question ID = 3794][Question Description = S2_qSNz_PG_CSR_Q19]

. Suffering was the first noble truth/g:za ot yewr st 211 aaren [Option ID = 15173]

. No soul theory was propogated by the Buddha/qg grI smeiiesars & gferemusn [Option ID = 15174]

. Buddhism was devoid of Caste and Class system/dlg ¢ef @1 snfer siiz avuf 31 2fa o [Option ID = 15175]
. The authority of sacred books was challenged/ ewfsjsell @t goildt firclt [Option ID = 15176]

AW N =

Correct Answer :-
e Suffering was the first noble truth/g:2a @t yemr 3t 31 adren [Option ID = 15173]

20) Identify the sect of Tibetan Buddhism that has Lojong as an important practice:

fereael digerst @ 31 JYgRI bl usaret HIfSie B ol - Sitss &I Arerel Asvayul Al sl 3 ¢

[Question ID = 3795][Question Description = S2_qSNz_PG_CSR_Q20]
1. Nying Ma/sfizT [Option ID = 15177]

2. Kargyud/®mw3g [Option ID = 15178]

3. Gelug/3xger [Option ID = 15179]

4. Sakya/zmaen [Option ID = 15180]

Correct Answer :-

e Nying Ma/sfigt [Option ID = 15177]

21) Identify the correct option given on the basis of 'Dependent Origination' in Buddhism:
dig el 3 gdicrRIgeUIc d IMER U= Al fdmeu dl usdrel Hifse :

[Question ID = 3796][Question Description = S2_qSNz_PG_CSR_Q21]
1. From becoming rises birth/sra 3 sufer 3cusot it 8 [Option ID = 15181]

2. From feeling rises becoming/dgcot 3 #1a <t 3cufer axcdt 2 [Option ID = 15182]

3. From contact rises name and form/zusf 3 ey &t 3cufer 2idt & [Option ID = 15183]
4. From birth rises becoming/=ufer 31 s1a &t 3cufer 2t & [Option ID = 15184]

Correct Answer :-

® From becoming rises birth/sra 3 sufer 3cuser it 2 [Option ID = 15181]

22) ldentify the name of scholar who translated the Dhammapada in Latin for the first time
33 fagrer dl usarer HIfSe SrTel usell AR &Faus @I cifes v 3 siofars fovar :

[Question ID = 3797][Question Description = S2_qSNz_PG_CSR_Q22]
1. James Prinsep/S@1 fieaa [Option ID = 15185]

2. Viggo Fausboll/geft wizider [Option ID = 15186]

3. Moriz Winternitz/#if331 fdeeforest [Option ID = 15187]

4. Sir Walter Elliot/3r arcez sferrie [Option ID = 15188]

Correct Answer :-
® James Prinsep/Sw fge3a [Option ID = 15185]

23) The Sacred Scriptures of Judaism were all mostly written in this language
agdl et @ sl elojer siffrepiora: s o A o srw -

[Question ID = 3798][Question Description = S2_qSNz_PG_CSR_Q23]
1. Greek/sfiw [Option ID = 15189]

2. Hebrew/f&g [Option ID = 15190]

3. Aramaic/srmiR [Option ID = 15191]

4. Latin/dfeer [Option ID = 15192]

Correct Answer :-



® Greek/sffas [Option ID = 15189]

24) The first five books of the Jewish Religious Literature are attributed to:
Agdl enfdics AT D Yt Uik Y 3fe [pAd R 8 ?
[Question ID = 3799][Question Description = S2_qSNz_PG_CSR_Q24]

1. Abraham/smgs# [Option ID = 15193]
2. David/3fas [Option ID = 15194]
3. Solomon/3de@er [Option ID = 15195]
4. Moses/a3r1 [Option ID = 15196]

Correct Answer :-

® Abraham/asmgeat [Option ID = 15193]

25) Identify the great religious leaders of the Jews in exile in Babylonia:
feiiforn 3t foraiRa el @ s1smel epifugorml &I usarst dHifSte :

[Question ID = 3800][Question Description = S2_qSNz_PG_CSR_Q25]
1. St.Peter and Paul/3ie ez 3iiz dfet [Option ID = 15197]

2. St.Jacob and John/3ie Stasa iz Sifer [Option ID = 15198]

3. Ezekiel and Isiah/wsifdseret siiz smsBrr [Option ID = 15199]

4. Moses and David/#iRw1 siiz 3fas [Option ID = 15200]

Correct Answer :-
® St.Peter and Paul/3ie diez iz dfer [Option ID = 15197]

26) Identify the place where Jesus Christ was born

$a1 afie @I Slod - FeITol 3 ©

[Question ID = 3801][Question Description = S2_qSNz_PG_CSR_Q26]
1. Bethlehem/dae3# [Option ID = 15201]

2. Galilee/aiferctt [Option ID = 15202]

3. Samaria/m@f¥n [Option ID = 15203]

4. Jerusalem/Sscwt [Option ID = 15204]

Correct Answer :-
e Bethlehem/ddcga [Option ID = 15201]

27) The Bible is generally divided into:
arsferer @1 ARIeRId: Sordl fanfora fopan s 3 -
[Question ID = 3802][Question Description = S2_qSNz_PG_CSR_Q27]

. Old Testament and New Testament/yrder ewi ferrer siiz ordior e fdemst [Option ID = 15205]
. Gospels and Epistles/3pemar 3ii eftRicar [Option ID = 15206]

. Acts and Prophecies/vaci siiz sifdwraiforn (Quseftst) [Option ID = 15207]

. Revelation and Writings/snfdsifa siiz cia (Isfess=1) [Option ID = 15208]

A W N -

Correct Answer :-
e Old Testament and New Testament/yrcflor et fireret sii2 ordier ewi faemor [Option ID = 15205]

28) ldentify the name of the king to whose lineage Jesus Christ belonged to:
3 ST DY usdrel HISTY BRIl dor uru=t A $ar il Adfea & -

[Question ID = 3803][Question Description = S2_qSNz_PG_CSR_Q28]
. Asoka/aseha [Option ID = 15209]

. Akbar/smwaz [Option ID = 15210]

. Constantine/@izersat [Option ID = 15211]

David/3fas [Option ID = 15212]

A w N =

Correct Answer :-
e Asoka/smweli@ [Option ID = 15209]

29) Emperor Constantine convened the first council of the entire Christian Church in 325 C.E. at:

AT Pirecrsal of b rerrel ur 325 33l a1 3 iyl $arrd ol & usehl ufvug gerrs ?
[Question ID = 3804][Question Description = S2_qSNz_PG_CSR_Q29]

Ephesus/wiert [Option ID = 15213]
Calcedon/@c31s1a1 [Option ID = 15214]
Nicea/foiRrm [Option ID = 15215]
Rome/3@ [Option ID = 15216]

A W N -



Correct Answer :-
e Ephesus/wdort [Option ID = 15213]

30) The battle that led to emergence of the Khawarij was
g oISEE, ORID a1 Waifest oI Sied g3l -
[Question ID = 3805][Question Description = S2_qSNz_PG_CSR_Q30]

1. Nihawand/fererde [Option ID = 15217]
2. Qadisiyya/oiféRBrr [Option ID = 15218]
3. Jamal/s@re [Option ID = 15219]

4. Siffin/Rmbler [Option ID = 15220]

Correct Answer :-
e Nihawand/frsrdg [Option ID = 15217]

31) 'Dar al-Nadwah' was situated in
'SI? 31T olgar’ f¥erda st uz o -
[Question ID = 3806][Question Description = S2_qSNz_PG_CSR_Q31]

Makkah /a1 [Option ID = 15221]
Jeddah/ster [Option ID = 15222]
Taif/arme [Option ID = 15223]
Ukaz/3®rer [Option ID = 15224]

A wWw N -

Correct Answer :-
e Makkah/a@mr [Option ID = 15221]

32) "Hayy ibn Yaqzan" is the philosophical work of
'&$ gool ADeIlol bl croffored gzae® 3 -
[Question ID = 3807][Question Description = S2_qSNz_PG_CSR_Q32]

1. Inb Bajjah/ssor arsarr [Option ID = 15225]
2. lbn Rushd/ssor w95 [Option ID = 15226]
3. Al-Farabi/asmet wrrd [Option ID = 15227]
4. lbn Tufayl/sset gier [Option ID = 15228]

Correct Answer :-

e Inb Bajjah/sst arsar [Option ID = 15225]

33) The battle of Qadisiyya was fought during the caliphate of
wIfe3rn &I sier faoadt Racmpa & o skt ?

[Question ID = 3808][Question Description = S2_qSNz_PG_CSR_Q33]

1. Hazrat Abu Bakr/zsra arg @, [Option ID = 15229]
2. Hazrat Ali/ssra sieft [Option ID = 15230]

3. Hazrat Umar/asra 3a= [Option ID = 15231]

4. Hazrat Uthman/asra 3emmer [Option ID = 15232]

Correct Answer :-
e Hazrat Abu Bakr/asra i aa [Option ID = 15229]

34) Of the following philosophers, which one belonged to the Mu'tazili rationalist school?

forgaifciRaa crofforepl 3 A vas AaifSicn ad JAFYgrRI A Jdg 3 ©
[Question ID = 3809][Question Description = S2_qSNz_PG_CSR_Q34]

1. Yaqub al-Kindi/=nee srefpsdt [Option ID = 15233]

2. Abu Nasr al-Farabi/arq oy sret wrRid! [Option ID = 15234]

3. Abu Zakariyya al-Razi/arq swpfsar siet 2t [Option ID = 15235]
4. Ali al-Tabari/asreft sret as3t [Option ID = 15236]

Correct Answer :-

® Yaqub al-Kindi/=rag srefdssct [Option ID = 15233]

35) Identify the birthplace of Guru Tegh Bahadur Ji
35 TI°T BIg2 Sit D STod FeITol Pl usaral Hifste :

[Question ID = 3810][Question Description = S2_qSNz_PG_CSR_Q35]



Baba Bakala/arar arasenr [Option ID = 15237]
Anandpur Sahib/asetes gz 2nfda [Option ID = 15238]
Patna Sahib/uean 2ufga [Option ID = 15239]
Amritsar Sahib/s@aer 2nfda [Option ID = 15240]

A W N -

Correct Answer :-
® Baba Bakala/arar araser [Option ID = 15237]

36) ModiKhana of Guru Nanak was situated at

Iolloldd DI AISRATOI A8l U= FFer e -
[Question ID = 3811][Question Description = S2_qSNz_PG_CSR_Q36]

1. Nankana Sahib/sireresren 2nféa [Option ID = 15241]
2. Kartarpur Sahib/@2aryz 2ufdg [Option ID = 15242]
3. Sultanpur Lodhi/Jeamegz et [Option ID = 15243]
4. Amritsar/seRR [Option ID = 15244]

Correct Answer :-

e Nankana Sahib/srereren anfae [Option ID = 15241]

37) The statement, "When all peaceful means have been tried and do not succeed, it becomes lawful to make use of the
sword" was given by

"Sig 29l erifergul ¥l srueIRl S g Bl 3k Awerdl ofdl Bicl 3l aq us faf2riFdad dn b dacar o1 gleI fop Sie” =18 wee $oldl 3 -

[Question ID = 3812][Question Description = S2_qSNz_PG_CSR_Q37]
Guru Nanak Dev Ji/sps sl da st [Option ID = 15245]

Bhagat Kabir Ji/sera @iz sit [Option ID = 15246]

Baba Banda Singh Bahadur Ji/«rmen see1 Ris @eige st [Option ID = 15247]

Guru Gobind Singh Ji/sps siifde Ris St [Option ID = 15248]

A WN -

Correct Answer :-
e Guru Nanak Dev Ji/3% st da sit [Option ID = 15245]

38) Gurudwara reform movement started on 5t October 1920 from this Gurudwara-

IBGRI IR 3iciciol DI YFH3IA 5 3rpar 1920 @I 537 BRI A 58 -
[Question ID = 3813][Question Description = S2_qSNz_PG_CSR_Q38]

1. Babe Ke Ber Sahib/ara @ &3 nféa [Option ID = 15249]
2. Nankana Sahib/sirermron 2nfaa [Option ID = 15250]

3. Kartarpur Sahib/@aryz aufda [Option ID = 15251]

4. Amritsar Sahib/sErRR 2ufag [Option ID = 15252]

Correct Answer :-
e Babe Ke Ber Sahib/amd & a= anfda [Option ID = 15249]

39) Identify the bani which is included in the Guru Granth Sahibji.

3> 3o Afdd # onfdrer droll b usarer HifsIg -

[Question ID = 3814][Question Description = S2_qSNz_PG_CSR_Q39]
Akal Ustat /arprer 32ce [Option ID = 15253]

Anand Sahib/sreie 2nféa [Option ID = 15254]

Jap Sahib/su anfde [Option ID = 15255]

Shabad Hazare/9rwg ssm [Option ID = 15256]

A W N -

Correct Answer :-
o Akal Ustat/simrer 3¥aa [Option ID = 15253]

40) The scripture of the Sikhs, Guru Granth Sahibji was edited by

[Question ID = 3815][Question Description = S2_qSNz_PG_CSR_Q40]

Guru Nanak/3ps oteia [Option ID = 15257]
Guru Amardas/3[ serert [Option ID = 15258]
Guru Arjan/3ps swsfer [Option ID = 15259]

Bhai Nand Lal/ e sicetrer [Option ID = 15260]

A WN -



Correct Answer :-
e Guru Nanak/3p® stere [Option ID = 15257]

41) Identify the primitive forms of religion from the following
A. Animism

B. Jainism

C. Mana

D. Buddhism

E. Totemism

Choose the correct answer from the options given below:

forgarfeilRaa 3 3t ept & yredial Tazeu 6l usare Hifsme :

A. Sfiarcan

B. Sior ersf

C. #Ho1

D. dig e

E. Qe

ofi o s1u faseal & A A8 IR BT I HIRIT :

[Question ID = 3816][Question Description = S2_qSNz_PG_CSR_Q41]

A, Cand E only/@aet A, C iz E [Option ID = 15261]
A, B and D only/@aet A, B aiiz D [Option ID = 15262]
B, C and E only/daet B, C siiz E [Option ID = 15263]
C, D and E only/@saet C, D siiz E [Option ID = 15264]

A W N -

Correct Answer :-
e A, CandE only/@ae A, C sz E [Option ID = 15261]

42) Read the following

A. Theory of the origin of religion introduced by E. B. Tylor

B. Theory of evolution first proposed by Charles Darwin

C. Theory of the origin of religion is given by Karl Marx

D. Theory of the evolution adopted by J. G. Frazer

E. Theory of the evolution of the religion adopted by Max Weber

Choose the correct answer from the options given below:

forfdciferRaa o ug :

A. 'eief @ 3cafer’ @1 RBigia ¢ |l 2er gRI yeda e srRn

B. 'fart’ @ Rigia o aadyenr arcsd sifder of yrqa fosan

C. 'erf @ scufer’ @1 Rrgia et ara=d o =

D. 'fapRI’ @ Rigia ol Si. Sil. B SIIERI U6IRI SRIT

E. ‘et @ Rt @ Rigia ol daa dak SRI U6IRI SRII

oifd fu sru frapeul 3 A Al IR DI RIS DIfSTU :

[Question ID = 3817][Question Description = S2_qSNz_PG_CSR_Q42]

A, B and D only/d@ac A, B sfiz D [Option ID = 15265]
A, B and C only/d@act A, B 3iiz C [Option ID = 15266]
C, D and E only/asaet C, D iz E [Option ID = 15267]
A, C and D only/daer A, C 3iiz D [Option ID = 15268]

AW N =

Correct Answer :-
e A, Band D only/aact A, B 3iiz D [Option ID = 15265]

43) Read the following
A. Chandogyopanisad explains the Atharvaveda

B. The Brahmana texts are recognized as epics



C. Ishwarakrasna is a founder of Yogadarsana
D. Sayanacarya is a commentator on the four Vedas
E. Kabiradasa was associated with the Bhakti movement

Choose the correct answer from the options given below:

forgarfeiRaa @1 ug :

A. sicsuforug srerdds &t e war 3

B. 9151V 3cer ABIDIRT o WU 3 STl SINT &

C. AMercler @ IFMUD $ERHWT 3

D. arRi dci & ARRNDPR ARIVIKRL 3

E. wdicra suftp-3iicicior A JAsag &

i fou s1u frpeul 3 A & 3R BT a6 HIfSIE ¢

[Question ID = 3818][Question Description = S2_qSNz_PG_CSR_Q43]

A and D only/@act A siiz D [Option ID = 15269]
B and D only/d3qet B siiz D [Option ID = 15270]
A and E only/@act A siiz E [Option ID = 15271]
B and E only/d>aet B siiz E [Option ID = 15272]

A WN =

Correct Answer :-
e Aand D only/da>aet A siiz D [Option ID = 15269]

44) Read the following statements and identify the correct answers.
A. Satapatha Brahmana text contains 12000 Sutras

B. Yama-Yami Sukta describes the theme of equality

C. Maharsi Kapila is a main preacher of Vaishnavism

D. 'The Life Divine' book is written by Arvindo

E. The total number of texts of Hindu Pauran is ten

Choose the correct answer from the options given below:

forgotifdpa dwerell dl ue 3iiR WS Il Bl usdrel :

A. srau greror 3 12000 33 &

B. w91 - 23l 7P AAdATOIAl DI aviel @al

C. w1t wftrer Jovracrst & ygRa uSorm 3

D. 'c ¥ Rarer’ gras @ crad Rfecr 3

E. Rogyzmoil &t aet = g &

il fou s1u freseul 3 A I IR BT a6l HIfSIE ©

[Question ID = 3819][Question Description = S2_qSNz_PG_CSR_Q44]

B, C and E only/@acr B, C siiz E [Option ID = 15273]
C, D and E only/aaer C, D 3iiz E [Option ID = 15274]
A, B and D only/aaet A, B aiiz D [Option ID = 15275]
A, B and C only/a@aa A, B siiz C [Option ID = 15276]

A WN -

Correct Answer :-
e B, CandE only/@aa B, C iz E [Option ID = 15273]

45) Read the following statements and identify the correct answer:

A. Mahabharata epic has been written before Valmiki Ramayana

B. Eightfold yoga has been explained in Mimamsa darsana

C. The first word of Rigveda is Agni

D. Ramanuja explained that meditation, worship and knowledge are synonyms of Bhakti

Choose the correct answer from the options given below:

forgatifend aersil ol ud siie A Iz usdre :



A. HBMIRA ASIDIRI dicdifcs AR @ yd ferar srm 3

B. srecifSraseiier &5t waen #istiRarcofor o 5§ 3

C. >B3dG DI Yo 9156 3ifdeT 3

D. r3reISt ot R bt 3 5 eanmet, gt 3iiR Sirel sifep & wRIRkaredt 3

ofid o s1u faseal & A A8 IR BT <RIl BT :

[Question ID = 3820][Question Description = S2_qSNz_PG_CSR_Q45]

A and C only/@aet A siiz C [Option ID = 15277]
B and D only/@qet B 3iiz D [Option ID = 15278]
A and D only/d@aet A siiz D [Option ID = 15279]
C and D only/@aet C siiz D [Option ID = 15280]

A W N -

Correct Answer :-
e Aand C only/a>aet A siiz C [Option ID = 15277]

46) ldentify the places where the Jain Tirthankaras attained salvation
A. Pataliputra

B. Giranara

C. Pavapurt

D. Vaisalt

E. Sammedasikhara

Choose the correct answer from the options given below:

St ciefpRI & forafur - Ferell ol usarfors :

A. ureferge

B. Bror

C. urargdt

D. domeft

E. s19dc Brar

ofid 3w o1 foseal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 3821][Question Description = S2_qSNz_PG_CSR_Q46]

A, D and E only/@aet A, D sl E [Option ID = 15281]
A, C and D only/dsaet A, C siiz D [Option ID = 15282]
B, C and E only/aaet B, C siiz E [Option ID = 15283]
B, C and D only/d@>aer B, C siiz D [Option ID = 15284]

A w N =

Correct Answer :-
e A, DandE only/@ac A, D siiz E [Option ID = 15281]

47) ldentify the correct pairs with reference to 3rd council of Jain Canonical Literature.
A. Place of the council - Mathura

B. President of the council - Deverdhiganiksamasramana

C. Duration of the council - 50 years

D. Period of the council - 5t Century C.E

Choose the correct answer from the options given below:

ot 3P Az Bt efi=r ufvec & Ao 3 A8t Yoar I usarer o3 :

A. ufyug @I Ferrel- #YRT

B. ufyug @ sreagr - Saftferfagemepgot

C. ufyug &t srafer - 50 ad

D.uf¥ug @1 TR - 5 df orarsdt St

il fou o1 frpeul 3 2 A IR BT a6l HIfSIE ¢

[Question ID = 3822][Question Description = S2_qSNz_PG_CSR_Q47]



A and B only/@act A 3iiz B [Option ID = 15285]
B and C only/dqet B siiz C [Option ID = 15286]
B and D only/dsaet B siiz D [Option ID = 15287]
A and D only/dact A siiz D [Option ID = 15288]

A WN -

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 15285]

48) Nagarjuna propounded in Shunyatasaptati that the cause of suffering as per twelve Nidanas may be ceased by:
A. Seeing or realizing Svabhavashunyata (void of intrinsic nature) of things

B. Hearing of four noble truths and performing Dana

C. Doing penances as Anapana meditation

D. Cessation of ignorance

E. Generating Bodhicitta and remembering the words of the Buddha

Choose the correct answer from the options given below:

ofodl AT 3 SIPISIel of Yferunfed fdvan 2 fib g:3a @ rrur w1 forie forgor A 2iar 3 :
A. Faurage @ ARIP] G9lol A

B. arR 3=t el & 9f@vur 3z Gl @0l A

C. au 3iiz 3Moiurel Jafer A

D. siféren & forYer A

E. af2iRrcurs iz digadell @ oavr A

ofid fou o1 fwseal & A A8 IR BT <RIl BT :

[Question ID = 3823][Question Description = S2_qSNz_PG_CSR_Q48]

A and B only/d>qet A siiz B [Option ID = 15289]
A and D only/dbaet A siiz D [Option ID = 15290]
A and C only/d@act A siiz C [Option ID = 15291]
B and E only/@aet B siiz E [Option ID = 15292]

A W N -

Correct Answer :-
e A and B only/@aet A siiz B [Option ID = 15289]

49) ldentify three marks of existence from the options given below, as per Buddhism.
A. Nirvana

B. Suffering

C. No-Self

D. Impermanence

E. Four Noble Truths

Choose the correct answer from the options given below:

dig el @ eRIR fRu s1u faasedl 3 A feyergror 6 usaret o3 :

A. forafor

B. g

C. 3rerdr

D. siforeax

E. ar 3t 3

il feu aru faeedl 3 A A8 IR @1 WRIet B :

[Question ID = 3824][Question Description = S2_qSNz_PG_CSR_Q49]

A, B and D only/d@act A, B sfiz D [Option ID = 15293]
B, C and D only/a@5aa B, C siiz D [Option ID = 15294]
C, D and E only/aaer C, D siiz E [Option ID = 15295]
B, D and E only/@qet B, D sik E [Option ID = 15296]

AW N =

Correct Answer :-
e A, BandD only/dac A, B 3iiz D [Option ID = 15293]



50) The following are included in the Sramana traditions of India-
A. Jainism, Buddhism, Ajivak, Veda, Vaisheshika

B. Buddhism, Jainism, Carvak, Ajivak

C. Ajivak, Advaitavada, Samkhya, Yoga, Mimamsa, Buddhism

D. Atomism, Buddhism, Carvak, Jainism, Ajivak

E. Buddhism, Advaita Vedanta, Mimamsaka, Ajivak Nyaya

Choose the correct answer from the options given below:

HRA D 9FIVT USURA 3 fowafRaa afdafera 3 :

A. Sia1, dig, siclla®, dg, 9w

B. dig, Siol, amai®, smshias

C. 3meiam, Agadist, A, Ael, HHRie

D. smpardl, dig, amai®, S, ssias

E. dig, sigadcrod, MaARI®, sildad, o=IRT

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 3825][Question Description = S2_qSNz_PG_CSR_Q50]

A and B only/dact A siiz B [Option ID = 15297]
B and D only/dsaet B siiz D [Option ID = 15298]
C and D only/@aet C sfiz D [Option ID = 15299]
D and E only/adaet D 3iiz E [Option ID = 15300]

AN wN -

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 15297]

51) According to Christian dogma, the Holy Trinity comprises of these following persons-
A. Father

B. Brother

C. Son

D. Mother

E. Holy Spirit

Choose the correct answer from the options given below:

Saré enffigia o s ufdq gt # wter onfirer & ?

A. o

B. s

C. gq

D. smar

E. ufemq smear

il fou s1u freseul 3 2 I IR BT a6l HIfSIE ©

[Question ID = 3826][Question Description = S2_qSNz_PG_CSR_Q51]

A, C and E only/a@aet A, C 3liz E [Option ID = 15301]
B, D and E only/aact B, D siiz E [Option ID = 15302]
A, B and C only/@aet A, B aiiz C [Option ID = 15303]
C, D and E only/aaer C, D siiz E [Option ID = 15304]

AW N -

Correct Answer :-
e A, CandE only/aae A, C siiz E [Option ID = 15301]

52) ldentify the chief protestant churches of Christianity
A. Anglican

B. Syro Malabar

C. Syro Malankara

D. Lutheran



E. Presbyterian

Choose the correct answer from the options given below:

$aré el @ ygra gieede Tl &t usara Hifsie

A. tBerwat

B. 13?1 eI

C. AR ACidRI

D. gfra

E. gRaei¥rer

il feu sru farsedl 3 A A8 IR D1 WRIel B :

[Question ID = 3827][Question Description = S2_qSNz_PG_CSR_Q52]

1. A, D and E only/d@aet A, D 3z E [Option ID = 15305]
2. B, C and D only/a@aet B, C 3liz D [Option ID = 15306]
3. C, D and E only/aaa C, D siiz E [Option ID = 15307]
4. A, Cand E only/a@ae A, C 3z E [Option ID = 15308]

Correct Answer :-
e A, D and E only/aaet A, D siiz E [Option ID = 15305]

53) Identify from among these, those of ten commandments:-
A. Respect your father and mother

B. Don't steal

C. Don't commit adultery

D. Don't travel extensively

E. Don't eat voraciously

Choose the correct answer from the options given below:

gotdl A $A AT (DHISIHTA) DI usarr HifsTg :

A. 3ruot JiTr iz frar o1 AT DI

B. ai$t o1 @3

C. =afim@aR of @3

D. sga siitro arqgy of @3

E. sga sifere o1 =

oifd fu sru frapeul 3 3 Al IR DI RIS DIfSIU :

[Question ID = 3828][Question Description = S2_qSNz_PG_CSR_Q53]

B, C and E only/dac B, C siiz E [Option ID = 15309]
C, D and E only/a3aet C, D sik E [Option ID = 15310]
A, D and E only/a@aet A, D siiz E [Option ID = 15311]
A, B and C only/@aet A, B 3iiz C [Option ID = 15312]

AW N =

Correct Answer :-
e B, Cand E only/daer B, C iz E [Option ID = 15309]

54) Identify the books of Torah (Pentateuch)
A. Leviticus

B. Malachi

C. Exodus

D. Proverbs

E. Genesis

Choose the correct answer from the options given below:

dRrs (da sjell) yzae & usare Hifsme :
A. afafesa



B. srem=it

C. vasa

D. Yiaed

E. S

ofid o s1u fasedl & A A8 IR BT wRI6l BT :

[Question ID = 3829][Question Description = S2_qSNz_PG_CSR_Q54]

A, B and C only/@aet A, B 3iiz C [Option ID = 15313]
B, C and D only/a@ae B, C sfiz D [Option ID = 15314]
A, C and D only/daet A, C 3iiz D [Option ID = 15315]
A, C and E only/@aet A, C iz E [Option ID = 15316]

A W N -

Correct Answer :-
e A, BandConly/adaca A, B iz C [Option ID = 15313]

55) Identify the Deuterocamomical books (Apocrypha) from among the following:
A. Sirach (Ecclesiasticus)

B. Amos

C. Maccabees

D. Ezra

E. Baruch

Choose the correct answer from the options given below

forrarferRaa 3 A syAIdolifdpe gzam! (e sfper) &t usare bHifste :
A. RBrra (vaaRrnReaa)

B. smarRa

C. Jadst

D. wsrar

E. ss:

ofiax f3u s1u faesedl 3 A W8 IR DI TR DI :
[Question ID = 3830][Question Description = S2_qSNz_PG_CSR_Q55]

A, B and C only/d@aa A, B sfiiz C [Option ID = 15317]
A, C and E only/@aet A, C iz E [Option ID = 15318]
B, C and D only/d@aet B, C siiz D [Option ID = 15319]
A, B and E only/a@aet A, B siiz E [Option ID = 15320]

AW N =

Correct Answer :-
e A, Band Conly/aac A, B siiz C [Option ID = 15317]

56) Which of the following statements are correct?
A. Ibn Sina was an Arab

B. Ibn Rushd was a Persian

C. Al-Kindi was a Hispano-Arab

D. Al-Farabi was a Turk

E. Al-Zahrawi was an Arab

Choose the correct answer from the options given below:

forgotferRaa 3 A wlor A weroT A8t
A. 3ol el U 3R a1

B. sool 95 g BRI ear

C. srafsdl was Uil 3Ry ar

D. sret BRI v gas ar

E. sra1 sisadi e a4 en

ofld feu a1g fawcul A A A8 Az &I wRIol BT :



[Question ID = 3831][Question Description = S2_qSNz_PG_CSR_Q56]

1. A, B and D only/dsaet A, B siz D [Option ID = 15321]
2. A and B only/daet A siiz B [Option ID = 15322]
3. Dand E only/@aet D iz E [Option ID = 15323]
4. Cand D only/dae C siiz D [Option ID = 15324]

Correct Answer :-
e A, Band D only/aact A, B siiz D [Option ID = 15321]

57) Some famous Indian personalities along with the places of their birth are given below. Which of these are correctly
matched?

A. Shah Waliullah-Delhi

B. Shaykh Ahmad Sirhindi-Sirhind

C. Sir Sayyid Ahmad Khan-Delhi

D. Sayyid Abul Ala Maududi-Aurangabad
E. Abul Kalam Azad-Calcutta

Choose the correct answer from the options given below:

@ HRARI cAfeped 37 Iold STodl Tl GU 31w &, il - A oA A8 & ?

A. o Tcflscas - Sacft

B. 9ix ssac WAE - Wt

C. 3 IS 36AG el - Sl

D. e srget srem Hlgél - fiomare

E. 3gc1 el 3MISIG - Deiddl

ofi o s1u fesedl & A A8 IR BT WRI6l HIRIU :

[Question ID = 3832][Question Description = S2_qSNz_PG_CSR_Q57]

1. Aand B only/a@aet A siiz B [Option ID = 15325]
2. Aand E only/d@aet A siiz E [Option ID = 15326]
3. Band D only/daet B siiz D [Option ID = 15327]
4. B, C and D only/daet B, C siiz D [Option ID = 15328]

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 15325]

58) Consider the validity of the following statements-

A. Ibn Arabi was born in Murcia

B. Ibn Rushd was born in Tunis

C. Abul Qasim al-Zahrawi was a great surgeon of the Arabs
D. Al-Bakri was an Arab scientist

E. Ibn Khaldun was born in Spain

Choose the correct answer from the options given below:

forgaiferRaa wersil &t derar urR frar Hifsre :

A. soor st gt & Ter gu

B. seol 95 qforat 3 et gu

C. rger DI arer StEdt sl & a3 Fsfor &

D. sret 93l uop R4 dsiiferd o

E. sool Tegotl Ut 3 Ual 31T o1

i) feu s1u faredl 3 A A8 IR D1 WRIet BRI :

[Question ID = 3833][Question Description = S2_qSNz_PG_CSR_Q58]

C and E only/a>aer C 3iiz E [Option ID = 15329]
A and C only/@aer A siiz C [Option ID = 15330]
A and B only/d@act A 3iiz B [Option ID = 15331]
B and D only/d3qet B aiiz D [Option ID = 15332]

AW N =



Correct Answer :-
e C and E only/aae C siiz E [Option ID = 15329]

59) Read the following:

A. Bebe Nanaki was younger sister of Guru Nanak

B. Bebe Nanaki lived at Sultanpur Lodhi after her marriage
C. Mata Sahib Kaur was the wife of Guru Gobind Singh

D. Mai Bhago fought for Guru Gobind Singh

E. Hola Mohalla is not a Sikh festival

Choose the correct answer from the options given below:

forgarferRaa oI ug :

A. 99 sie1bl 3fFolloid ¢d bl BIEl dsol off

B. 94 ctrordbl 9l @ uRaId ooty ciieft I ael off

C. 31 alifdc Riz &I ucell srar wfda Biz off

D. 31> aiifdc Riz d fere & sl of crsré ot

E. @renr stscen Rrdl o1 ®ileR oél 3

ofid o s1u faseal & A A8 IR BT Il BT :

[Question ID = 3834][Question Description = S2_qSNz_PG_CSR_Q59]

. A, B and E only/daet A, B siiz E [Option ID = 15333]
. B, Cand E only/aac B, C siiz E [Option ID = 15334]
. A, D and E only/daer A, D siiz E [Option ID = 15335]
. B, Cand D only/aact B, C siiz D [Option ID = 15336]

A W N -

Correct Answer :-
e A, BandE only/dqet A, B iz E [Option ID = 15333]

60) Read the following:

A. Bhai Dayala was arrested with Guru Tegh Bahadur Ji

B. Bhai Deep Singh lived his life in the true saint-soldierly spirit and laid down his life
C. Bhai Mani Singh was a writer of Adi Granth at Amritsar

D. Baba Dayal Singh was the founder of the Nirankari movement

E. Guru Gobind Singh was the founder of Sikh Sangat

Choose the correct answer from the options given below:

forgotferfRaa o ug :

A. 3% P1 SaIgz Sit & AT HIS ATl 6t JollT 31w &

B. i€ Slu Riz v A< Ad - AT 9 D Arer Riw 3ii2 e Shidol afergrer @2
C. @R 3 31 3oy @ @ s 6l Rizs A

D. forR® siicictol @ Yular arer gare Biz &

E. 31% siifdeg Ris of 21 Fota & e & off

il fou s1u frpeul 3 A Il IR DI Tol HIRKY :

[Question ID = 3835][Question Description = S2_qSNz_PG_CSR_Q60]

A, B and E only/adaet A, B 3iiz E [Option ID = 15337]
A, D and E only/@aet A, D siiz E [Option ID = 15338]
A, B and D only/d@ac A, B sfiz D [Option ID = 15339]
B, C and D only/@ae B, C siiz D [Option ID = 15340]

A w N =

Correct Answer :-
e A, BandE only/dqe A, B siz E [Option ID = 15337]

61) Which of the following statements are correct?
A. Maharshi Dayanand has said that Vedas are Apauruseya

B. Cultural data are not found in Hindu Puranas



C. Vivekananda explained Advaitavedanta scientifically
D. Vedantadarsana does not hold the principle of Jivanmukti
E. Upanisadas is also known as Brahmavidya

Choose the correct answer from the options given below:

forgotferfRaa werwil o ug 3z Ad 3az usdrer :

A. 518ltf crelog of el § fob dg szt &

B. R3og gzmvil & Azl aear ordl e 3

C. faa®I6ic of 3G dgid bl dsiiford carRen & 3

D. dcroagels 3 ‘Siaegfis’ @1 Rigia ot &

E. Suforag 'geifden’ @ wu 3 3ht el S 3

il feu s1u fareedl 3 A A8 IR @1 TRIet B :

[Question ID = 3836][Question Description = S2_qSNz_PG_CSR_Q61]

1. B, D and E only/dact B, D 3iiz E [Option ID = 15341]
2. A, CandE only/aae A, C aik E [Option ID = 15342]
3. A, Band D only/@act A, B siiz D [Option ID = 15343]
4. B, C and D only/asaet B, C iz D [Option ID = 15344]

Correct Answer :-
e B, D and E only/dacr B, D siiz E [Option ID = 15341]

62) Identify the apostles of Jesus
A. St. Peter

B. St. Paul

C. St Bartholomew

D. St. Francis Assissi

E. St. John

Choose the correct answer from the options given below:

foraifaiaa & A $ar wfier S yfdrsil B usarr BN :
A. 3Jc dice

B. e dia

C. 3lic selfelifirn

D. 3¢ wifrr ARRA

E. e sifer

il fou s1u freseul 3 A I IR BT TI6Tl HISIE ©

[Question ID = 3837][Question Description = S2_qSNz_PG_CSR_Q62]

. A, B and E only/dac A, B 3iiz E [Option ID = 15345]
. A, Cand E only/aae A, C 3iiz E [Option ID = 15346]
. B, D and E only/dsaet B, D siiz E [Option ID = 15347]
. B, Cand E only/d@aa B, C iz E [Option ID = 15348]

A W N -

Correct Answer :-
® A, BandE only/dac A, B 3iiz E [Option ID = 15345]

63) Read the following carefully:-

A. Religious exclusivism is a bigger challenge to religious co-existence
B. Religious pluralism is the view that there are many paths to salvation
C. Religious experience is not a personal experience

D. Inter-religious understanding demands dialogue

E. Religious fundamentalism is good for social harmony

Choose the correct answer from the options given below:



forgstifepa werell @1 earoyde ug -

A. e w15 - sif¥ara @ foru =i & et 6t exef Ieoar w<t goiiedt 3

B. enf3fes sigerararc @ siol:AR AR 3q udliers Apt 3

C. enf¥fcs 3mopsra AfepaId 3ioeId ofdl 3

D. siazenfifes st Aarc & #Aidr kil 3

E. enf3fes Fctaeaare Armfore Al @ foru sreor 3

ofid o s1u fwseal # A A8 IR BT <RIt BT :

[Question ID = 3838][Question Description = S2_qSNz_PG_CSR_Q63]

A, B and C only/dact A, B siiz C [Option ID = 15349]
A, B and D only/@aet A, B aiiz D [Option ID = 15350]
A, C and E only/d@aea A, C 3iiz E [Option ID = 15351]
B, C and E only/asaet B, C siiz E [Option ID = 15352]

A wWw N -

Correct Answer :-
e A, Band Conly/dact A, B siiz C [Option ID = 15349]

64) ldentify the Components of Dependent origination
A. Consciousness

B. Craving

C. Cessation of suffering

D. Feeling

E. Way to Cessation of suffering

Choose the correct answer from the options given below:

yddlcrggeurs @ sisil &I usars Hifsie :

A. fersior

B. qoun

C. g forla

D. agon

E. g forlea ant

il feu aru fareedl 3 A A8 IR D1 WRIel B :

[Question ID = 3839][Question Description = S2_qSNz_PG_CSR_Q64]

A, B and C only/d@act A, B sfiz C [Option ID = 15353]
A, B and D only/@aet A, B aiiz D [Option ID = 15354]
B, C and D only/a@act B, C sfiz D [Option ID = 15355]
C, D and E only/asaet C, D siz E [Option ID = 15356]

A w N =

Correct Answer :-
e A, Band Conly/aact A, B siiz C [Option ID = 15353]

65) Identify the types of knowledge in Jain tradition
A. Mati

B. Avadhi

C. Samgraha

D. Keval

E. Sabda

Choose the correct answer from the options given below:

Siol URFURIGRAR Slol @ I Ml Ugdrol
A. afer
B. smafér
C. Jos
D. @aa



E. orsg
oifd f&u s1u farpeul 3 A &t IR DI R DI
[Question ID = 3840][Question Description = S2_qSNz_PG_CSR_Q65]

A, B and D only/@aet A, B aiiz D [Option ID = 15357]
A, C and E only/@aa A, C 3iiz E [Option ID = 15358]
A, D and E only/@aet A, D sl E [Option ID = 15359]
C, D and E only/asaet C, D iz E [Option ID = 15360]

AW N -

Correct Answer :-
® A, Band D only/aaet A, B 3iiz D [Option ID = 15357]

66) Match List | with List Il

List | List Il

A. Belief in the existence of the soul I. Mana

B. Terms used for force, power, or essence that endows
people, animals, other living things and possibly inanimatelll.Syncretism
objects with a special quality of powers

C. Groups of related people or kin networks to worship

. . . I1l. Animism
their own particular deity
D. Blending of two religions to form a new one IV-Totemism
Choose the correct answer from the options given below:
el -1 @1 3 -1l ) Fafera Hifste ¢
et -| et -l
A. sirear 3 freart |. Jre1T
B. o1ftp, At 3iiz ara @ fére gRIIeT fopu 31w 9reg Sl cafepel, i
9 & 9 . . . .

[SIToTar2d, ﬂsﬂtﬂaﬁ?m{aﬁ forsifa avqaii ol fdg ywr &l g1ftp
YGIel DI 3
C. v 1o 3 caftpl 3rerar 9l - AR o1 e St 3ol fadw |l
Sadr &1 RIEIG B & Siiarcan
D. 3 erdif @l frelid: Wb dolloll IV.

) CR¥ar

il fou o1e fyseul 3 A At IR gfom ©

[Question ID = 3841][Question Description = S2_qSNz_PG_CSR_Q66]
1. A-1,B-1I,C-1V,D-1

[Option ID = 15361]
2. A-1ILB-1,C-1V,D-Il

[Option ID = 15362]
3. A-I,B-1l,C-1l,D-IV

[Option ID = 15363]
4. A-IV,B-1,C-1I,D-1ll

[Option ID = 15364]
Correct Answer :-
e A-Il,B-NI,C-IV,D-1
[Option ID = 15361]

67) Match List | with List Il

List | List Il

A. E. B. Tylor I. Totem

B. J. G. Frazer Il. Sacred Archetypes
C. Emile Durkheim Ill. Animism

D. Mircea Eliade IV. Magic

Choose the correct answer from the options given below:



et -1 Bt 3l -1l A AR Hifre

oxet -1 ot -1l

A. € & 2R I. 2ra

B. S Sil. BS1R Il. AB 336 er3u
C. uafter guftar I11. Sharcar

D. sif¥fem sarg IV. sig,

offa fou o1 frpeul 3 3 A I gforw ©
[Question ID = 3842][Question Description = S2_qSNz_PG_CSR_Q67]

A-1ll,B-1,C-1l,D- IV [Option ID = 15365]
A-1,B-1I,C-1ll, D - IV [Option ID = 15366]
A-1ll,B-1,C-1V, D - Il [Option ID = 15367]
A-1ll,B-1V, C-1,D - Il [Option ID = 15368]

A WN -

Correct Answer :-
e A-IlIl,B-1,C-1Il,D-IV[Option ID = 15365]

68) Match List | with List Il

List | List Il

A. Brahmana Granthas |I. Brahmosamaj
B. Valmiki Il. Siksa

C. Sadvedanga lll. Ramayana

D. Raja Rammohan Roy|lV. Vedasarhhitas
Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifsre :

xet -1 oreht -lI
A. SIBIVT Sce |. @1 st
B. arcaiifes Il. forgm
C. usdgisr lll. 1RO
D. 1St 3G IRT IV. aeqifdar

il fou o1 frseul 3 3 A IR gfom ©
[Question ID = 3843][Question Description = S2_qSNz_PG_CSR_Q68]

A-1V,B-1lll, C-1l, D -I[Option ID = 15369]
A-11,B-1V,C-1,D-Ill [Option ID = 15370]
A-1Il,B-1,C-1V,D- Il [Option ID = 15371]
A-1,B-1l,C-1l, D -1V [Option ID = 15372]

A W N =

Correct Answer :-
® A-1IV,B-1ll,C-1I,D-1I[Option ID = 15369]

69) Match List | with List Il

List | List Il

A. Sammeda Sikhara I. Non-stealing

B. Kevalajfiana Il. Ajanta-Ellora caves

C. Maharastra lll. Nirvana Place of Parsvanatha
D. Asteyavrata IV. Supreme knowledge

Choose the correct answer from the options given below:

it -l oot 3 -1l A Fgafera HifSte :

Rpet -1 oret -lI

A. J1¥dc PR |. <tdt o1t ol

B. dactsiior Il. srsiar - weller 3BT

C. BRI 111, uredoirer o1 forafor Femer
D. 3rRIga IV, st siret

oifa feu aru faasedl 3 A A8 3R gforu :
[Question ID = 3844][Question Description = S2_qSNz_PG_CSR_Q69]

A-1,B-1l,C-1ll, D - IV [Option ID = 15373]
A-1ll,B-1V, C-1l, D - | [Option ID = 15374]
A-1V,B-1lIl, C-1l, D - | [Option ID = 15375]
A-11,B-1,C-1V, D - Il [Option ID = 15376]

A w N =

Correct Answer :-
e A-I,B-1l,C-IlIl,D-IV[Option ID = 15373]



70) Match List | with List I

List | List Il

/A. Sammaisuttam I. Jivamajivamdavvam

B. Pavayanasaro Il. Anekantakanda

C. Davvasangaho Ill. Dhammo mangalamukkittham
D. Dasavealiyam IV. Caritradhikara

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifSie

Rpet -1 et -l

A. IS |, Shaersild god

B. URIVIARI Il. roIPIoadIvs
C. GoaRioral ll. eral FoTcIAgfps
D. cadsnferi IV. enf¥quféror

il feu o1u farasedl 3 A 8 3R gforo :
[Question ID = 3845][Question Description = S2_qSNz_PG_CSR_Q70]

A-1,B-1ll,C-1V, D - Il [Option ID = 15377]
A-1,B -1V, C-1,D- Il [Option ID = 15378]
A-1II,B-1,C-1l,D- IV [Option ID = 15379]
A-1V,B-1ll, C-1I, D- I [Option ID = 15380]

A w N =

Correct Answer :-
e A-I,B-Ill,C-1V,D- Il [Option ID = 15377]

71) Match List | with List Il

List | List Il

A. Asanga I. Ishwara Kartrtvanirakarana
B. Vasubandhu Il. Carya Pranidhanartha

C. Nagarjuna Ill. Saptagunavarnanakatha
D. Dignaga IV. Buddhanusmitivritti

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et - | e -1l

A. 3RTFeT |. $earepdjeafoRTapuT
B. a3gaoe] 1. =rigforemoiref

C. sIeISiel Ill. rsspUIaUiciiasen
D. fesstor IV. ggroRgteafa

oif<l feu oru fedl 3 A A8 3R gfore :
[Question ID = 3846][Question Description = S2_qSNz_PG_CSR_Q71]

A-1,B-1,C-1IV, D - Ill [Option ID = 15381]
A-1l,B-11,C-1,D - IV [Option ID = 15382]
A-1V,B-1ll, C-1,D -1l [Option ID = 15383]
A-1,B-1I,C-1ll, D - IV [Option ID = 15384]

A WN -

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 15381]

72) Match List | with List Il

List | List Il

A. Moses I. The Wise King

B. Abraham Il. Psalms

C. David Ill. Father of the Faithful

D. Solomon IV. Organizer of Jehovah Worship

Choose the correct answer from the options given below:

It -1 Bt et -1l A gakma Hifde

et -1 et -1l
A. IR |. ¢ arsst fapar

B. sigrea Il. &1




C. 3fas lll. w2 i © Bergen
D. Alciidror IV. sifelorssrR sifws Sigrar arfofa
oif feu o1u faasedl 3 A 8 3R gforo :

[Question ID = 3847][Question Description = S2_qSNz_PG_CSR_Q72]

A-1,B-1l,C-1ll, D - IV [Option ID = 15385]
A-1V,B-1lIl, C-1l, D - | [Option ID = 15386]
A-11,B-1Il,C-1V, D - | [Option ID = 15387]
. A-1ll,B-1V,C-1,D - Il [Option ID = 15388]

A w N =

Correct Answer :-
e A-I,B-1l,C-IlIl,D-IV[Option ID = 15385]

73) Match List | with List Il

List | List Il

A. Martin Luther I. Kerala

B. St. Mother Theresa Il. Kolkatta
C. St. Francis Assissi Ill. Italy

D. St. Alphonsa IV. Germany

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et - | el -1l

A. mfdor qgere I. bzt

B. 2ic sice &= Il. lererar
C. Jc i3 efi3=ht 1. secht

D. Jc wcwiar V. Stafoft

ofiax fRu o1 el 3 A At I gfom :
[Question ID = 3848][Question Description = S2_qSNz_PG_CSR_Q73]
. A-1,B-1l,C-1ll,D-IV[Option ID = 15389]

-1, B-1ll, C- 1V, D - | [Option ID = 15390]

1

2. A

3. A-Iv,B-1l,C-1ll, D-1[Option ID = 15391]
4. A-1l,B-1V,C-1,D-Il[Option ID = 15392]

Correct Answer :-
e A-I,B-1l,C-IlIl,D- IV [Option ID = 15389]

74) Match List | with List Il

List | List Il

IA. Ashraf Ali Thanvi I. Tafhim al-Quran

B. Ameen Ahsan Islahi Il. Bayan al-Quran

C. Abul Ala Maududi lll. Tadabbur-e-Quran
D. Abul Kalam Azad IV. Tarjuman al-Quran

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rt -1 et -1

A. 319 3rctl errordt |. awdle 3reT qRIol
B. arafiol argdo1 s¥cidl Il. =iToT 31eT q3RIoT
C. 3rgel 3 dlgdl Ill. agosz § waret
D. 3rgel el 3IISIG IV. esiaret sre1 @rlol

oif<l feu aru famedl 3 A A8 3R gfore :
[Question ID = 3849][Question Description = S2_qSNz_PG_CSR_Q74]

A-1,B-1l,C-1ll, D - IV [Option ID = 15393]
A-11,B -1, C-1,D- IV [Option ID = 15394]
A-1ll,B-11,C-1,D- IV [Option ID = 15395]
A-1V,B-1l,C-1ll,D- | [Option ID = 15396]

A WN -

Correct Answer :-
e A-I,B-1l,C-Ill,D-IV[Option ID = 15393]

75) Match List | with List Il

List | List Il
Son Father




A. Guru Nanak |. Baba Kalu (Kalyan Rai)
B. Guru Arjan Il. Guru Arjan

C. Guru Hargobind Ill. Guru Ramdas

D. Guru Tegh Bahadur IV. Guru Hargobind

Choose the correct answer from the options given below:

et -1 B e -1l A g e

Rt -1 Rt -1l

A. 313 ollold |. Srer @It (dBevT IRT)
B. a5 sfer Il. 313 3rslor

C. 31> swilifdc Ill. 315 wICTT

D. 315 eI weIge IV. 315 sl

offa fou s1o fRrpeul 3 3 A I gforw ©
[Question ID = 3850][Question Description = S2_qSNz_PG_CSR_Q75]

A-1,B-1I,C- IV, D - Il [Option ID = 15397]
A-1,B-1I,C-1ll, D - IV [Option ID = 15398]
A-1V,B-1I,C-1ll, D - | [Option ID = 15399]
A-1,B-1ll,C-1l,D- IV [Option ID = 15400]

A W N -

Correct Answer :-
e A-I,B-1l,C-1V,D-Ill [Option ID = 15397]

76) Arrange the following texts in chronological order (Later to earlier period)
A. Bhagavadgita

B. Tantraloka

C. Atharvaveda

D. Satyartha Prakasa

E. Sankarabhasya

Choose the correct answer from the options given below

forgatifepa sjell DI DITRATIRAR dIC A YRFH D A d =Iaferd a3 -
A. sprag sftar

B. ddqreiie

C. srerdds

D. Jcmelgeion

E. onimasrsa

ofid fou s1u feseal # A A8 IR BT wRI6T BT :

[Question ID = 3851][Question Description = S2_qSNz_PG_CSR_Q76]

D, E, B [Option ID = 15401]
C, A, B, D, E [Option ID = 15402]
B, E, A, C, D [Option ID = 15403]
D, B, E, A, C [Option ID = 15404]

A w N =

Correct Answer :-
e A, C,D,E, B[Option ID = 15401]

77) Arrange the following Indian philosophical systems chronologically, from earlier to later
A. Mimansa

B. Sankhya

C. Nyaya

D. Vaisesika

E. Vedant

Choose the correct answer from the options given below

forrarferRaa sirefizr groffores Al Bl DPITHAGRIR YR A dIc D o d 31 ¢
A. sferizn



B. Jizsa

C. =

D. dofre

E. derea

ofid o s1u fwsedl & A A8 IR BT WRI6l HIRIU :

[Question ID = 3852][Question Description = S2_qSNz_PG_CSR_Q77]

1. D, A, E, C, B [Option ID = 15405]
2. A, B, C, E, D [Option ID = 15406]
3. C, D, B, A, E [Option ID = 15407]
4. E, C, D, B, A [Option ID = 15408]

Correct Answer :-
e D, A E, C, B[Option ID = 15405]

78) Arrange the events of Bible history in chronological order, earlier to later
A. Abraham’s sacrifice

B. Babylonian Exile

C. Joshua and Judges in Canaan

D. Reign of King David

E. Flood and Noah's ark

Choose the correct answer from the options given below

arsfeer 3 aftia VfereIRie acetsii dI (dsdl A D 46 D) PITRHRIR RAaflerd @3 ¢
A. 39184 @I dfeiciol

B. afdeiforn 3 foraferer

C. @otrel 3 sArRIER9r e Sieram

D. fpa1 3frs @1 9mRIa

E. Steryerx 3iiR ofg oI ot

Siil f¢u are famedl 3 A A8l IR DI TRIel DI :

[Question ID = 3853][Question Description = S2_qSNz_PG_CSR_Q78]

1. A, B, C, D, E [Option ID = 15409]
2. B, C, A, D, E [Option ID = 15410]
3. C, D, A, E, B [Option ID = 15411]
4. E, A, C, D, B [Option ID = 15412]

Correct Answer :-
e A, B, C, D, E [Option ID = 15409]

79) Arrange the following scholars chronologically on the basis of their theories of religion:
A. Max Weber

B. J. G. Frazer

C. E. Durkheim

D. Mircea Eliade

E. E. B. Tylor

Choose the correct answer from the options given below

et @ Rigia @ smeR U 3ol fagrell o1 A8 oot 3 aaEe @
A. dlaa aw

B. Sisht SR

C. 3. gxffar

D. aif¥fenm see

E.$ & 2eer

il fou s1u fyapeul 3 2 I IR BT w6l HIfSIE ©



[Question ID = 3854][Question Description = S2_qSNz_PG_CSR_Q79]

1. A, B, D, E, C [Option ID = 15413]
2. E, B, C, A, D [Option ID = 15414]
3. E,C, B, D, A[Option ID = 15415]
4. E, B, C, D, A [Option ID = 15416]

Correct Answer :-
e A B, D, E, C[Option ID = 15413]

80) Arrange the following texts chronologically, early to later period
A. Visnupurana

B. Satyartha Prakasha

C. Samaveda

D. Vedantasara

E. The Life Divine

Choose the correct answer from the options given below

forotifepe sfell Bl DIcToIadl A YRIF A 91 D a9l I RAi-erd D3 -

A. forsoporor

B. srcmelgaTor

C. Jmrag

D. dereaar

E. g arsw f3arsol

ofi o s1u fwseal & A A8 IR BT wRI6l BT :

[Question ID = 3855][Question Description = S2_qSNz_PG_CSR_Q80]

B, E, C [Option ID = 15417]
C, A, D, B, E [Option ID = 15418]
E, C, A, D, B [Option ID = 15419]
D, B, E, C, A [Option ID = 15420]

A W N -

Correct Answer :-
e A, D, B, E, C [Option ID = 15417]

81) Arrange the following incidents or personalities in chronological order of their appearance, from earlier to later:
A. Shantideva and Dharmakirti

B. Madhyamika of Nagarjuna

C. Rise of Mahasanghika

D. Reign of Vattagaman in Ceylon

E. Logical School of Dignaga

Choose the correct answer from the options given below

forgotferfaa cafepedl B! BICTGAGRIR Usc! I TIb dIG 3 dlol & oA A wraf¥erd Hifsre ¢
A. onfoaca iR epfbifed

B. sip1Sior @1 steafirn

C. IBRIfDBI BT 35

D. ficllel @& agensiol @1 9IRIT

E. fGoatmer @1 Rt

il feu s1u fareedl 3 A A8 IR D1 WRIet B :

[Question ID = 3856][Question Description = S2_qSNz_PG_CSR_Q81]

1. A, B, C, D, E [Option ID = 15421]
2. B, C, D, E, A [Option ID = 15422]
3. C, D, B, E, A [Option ID = 15423]
4. D, E, A, B, C [Option ID = 15424]

Correct Answer :-
e A, B, C, D, E[Option ID = 15421]



82) Arrange the India-related Christian saints chronologically, from an earlier to later period
A. St. Thomas, the Apostle

B. St. Francis Xavier

C. St. Alphonsa

D. St. Chavara Kuriakose Elias

E. St. Mother Theresa of Kolkatta

Choose the correct answer from the options given below

HRA A Adg $A1$ Adl DI usdl A 916 D PIcl BATGRIR Aaferd Hifsme :

A. e & ¢ vdRIa

B. 3¢ wifrr SRk

C. 3c vewiar

D. 3ic arart gfreR eierRt

E. 3Jic g &A1 3% Dlcidbrar

oifd fu a1 frpeul 3 A Al IR DI TR DIfSTU :

[Question ID = 3857][Question Description = S2_qSNz_PG_CSR_Q82]

C, D, E, A, B [Option ID = 15425]
D, E, A, B, C [Option ID = 15426]
E,D,C,B
A, B,D,C

, A [Option ID = 15427]
, E [Option ID = 15428]

AW N =

Correct Answer :-
e C,D, E, A, B[Option ID = 15425]

83) Arrange the major events of Christianity in chronological order, earlier to later
A. World Council of Churches-formation

B. Martin Luther's Reformation

C. Jerusalem Council

D. IInd Vatican Council

E. Crusades

Choose the correct answer from the options given below

$ar$ et DI YgRa gearsil Bl DICIRIARRIR (Usd A 96 D) @i I crai-ed dhifse :
A. Tat & faea uftug &1 s1601

B. aufdor qger fovor @ Jear

C. Sre3c uf¥ug

D. f&eiiRn afeaer ufdug

E. eeigg

il fou o1 fraseul 3 3 I IR BT TI6T HIfSIE :

[Question ID = 3858][Question Description = S2_qSNz_PG_CSR_Q83]

1. A, B, C, D, E [Option ID = 15429]
2. C, E, B, A, D [Option ID = 15430]
3. B, C,D,E, A[Option ID = 15431]
4. D, E, A, B, C [Option ID = 15432]

Correct Answer :-
e A, B, C, D, E [Option ID = 15429]

84) Arrange the following Caliphs chronologically in order of their rule
A. Ali ibn Abi Talib

B. Umar ibn al-Khattab

C. Abu Bakr Siddiq



D. Uthman ibn Affan

Choose the correct answer from the options given below

forrarferRaa zaciiwIsli Bl Io1d IIRIol B PICTRAGRIR =Ial¥erd Hifse :

A. 3rcfl soot 3l anfers

B. 3312 36t 3re1 A

C. 3 a@ REie

D. 3¥drol 361 1TBIol

ofid 3w o1 fwseal & A A8 IR BT wRI6T HIRdIT :

[Question ID = 3859][Question Description = S2_qSNz_PG_CSR_Q84]

A, B, C, D [Option ID = 15433]
B, C, D, A [Option ID = 15434]
D, C, A, B [Option ID = 15435]
C, B, D, A [Option ID = 15436]

)

)

A w N =

» By

Correct Answer :-
e A, B, C, D[Option ID = 15433]

85) Arrange the following chronologically, from the earliest to the latest
A. Bhai Vir Singh

B. Bhai Mani Singh

C. Bhai Santokh Singh

D. Bhai Gurdas

E. Bhai Nand Lal

Choose the correct answer from the options given below

gd 3 916 & @ 3 A8 DIcTad §dIsT ¢

A. g 4z RBi

B. s amoit Ris

C. a1 Aoa RBis

D. s spsera

E. sr$ siogetrer

il fou s1u frapeul 3 A I IR BT a6l HIfSIE ©

[Question ID = 3860][Question Description = S2_qSNz_PG_CSR_Q85]

1. A, B, D, E, C [Option ID = 15437]
2. C, E, A, B, D [Option ID = 15438]
3. D, E, B, C, A[Option ID = 15439]
4. D, E, C, A, B[Option ID = 15440]

Correct Answer :-
e A, B, D, E, C[Option ID = 15437]

86) Given below are two statements

Statement I: Vedic Literature is also known as 'Sruti’

Statement Il: The essence of Upanishads is explained in the Brahmas
u

tra

In light of the above statements, choose the most appropriate answer from the options given below

ofir <1 Derer Ry amg 2 :

@l - | : dfdw Afdca o1 "gYfer’ @ wu I 91t Siwen Sirar 3

@l - |l © "oy # suforuci @ AR &I carean &l o1 8

SWRIFP Dol @ 3Mrelld #, ofld 3w 31w frpedl 3 A AR IuYeP IR DI TRIol HIPIT ©



[Question ID = 3861][Question Description = S2_qSNz_PG_CSR_Q86]

Both Statement | and Statement Il are correct/weret | 3z || gloil 2@t & [Option ID = 15441]

Both Statement | and Statement Il are incorrect/aemr | 3iiz |l GXail steia & [Option ID = 15442]

Statement | is correct but Statement Il is incorrect/@emr | 3t 8, fpoq @t |l st & [Option ID = 15443]
Statement | is incorrect but Statement Il is correct/aemwr | s &, o @eret |l 3t & [Option ID = 15444]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemr | iR 11 Gloll 28t & [Option ID = 15441]

87) Given below are two statements
Statement I: One of the goals of a practitioner is to develop non-attachment
Statement II: Staying away from the middle way, one will pass from suffering

In light of the above statements, choose the correct answer from the options given below

ofi <t Dot Ru s 3 :

@erel - | @ Arers @ 39l 3 A TP DI IBTTD Bloll

P - || : 7eEr APl 3 g Sl uR gl A forgfr 3t et 3

SWRIFP Dol D 3Mrelld #, ofld 8w 31w frpedl 3 A AR IuYeD IR DI TRIol HIFIT ©
[Question ID = 3862][Question Description = S2_qSNz_PG_CSR_Q87]

Both Statement | and Statement Il are true/eret | 3z || Gloil 31=1 8 [Option ID = 15445]

Both Statement | and Statement Il are false/@ermr | 3iiz || Staif sRicr & [Option ID = 15446]
Statement | is true but Statement Il is false/®epol1 | A1 8, fbog et || sRI=r & [Option ID = 15447]
Statement | is false but Statement Il is true/memr | 3Ric &, fboq et || A= & [Option ID = 15448]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 11 Glell 31 & [Option ID = 15445]

88) Given below are two statements
Statement I: Moses Ben Maimon is often called the second Moses by the Jews
Statement Il: Moses Ben Menahem-Mendel is counted by the Jews as Moses, the third or Moses, the emancipator

In light of the above statements, choose the most appropriate answer from the options given below

ofid <1 Dot Ru sme 3 :

@werel - | @ HRRA Yot el DY ATEY YRI: feiier ARRAT waa

@l - |l : AR ol Aoldd - ASel AGS! ARRA eI srerar feila® ARRT Aol 3
SWRIFP Pl @ 3Mrelld d, ofld 3w s1u fRrpedl 3 A AR IuYe IR DI TRIol HIPIT ©
[Question ID = 3863][Question Description = S2_qSNz_PG_CSR_Q88]

Both Statement | and Statement Il are correct/aemr | 3z |l loif 2 & [Option ID = 15449]

Both Statement | and Statement Il are incorrect/@erwr | 3z || Si6il stete & [Option ID = 15450]

Statement | is correct but Statement Il is incorrect/erwet | 31t 8, fpoq et Il sieta & [Option ID = 15451]
Statement | is incorrect but Statement Il is correct/a@erwt | s1eia 3, fdboq @erwet |1 3t & [Option ID = 15452]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/@emt | 3z |l cloif 28 & [Option ID = 15449]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Among Muhammad's companions were the Ahl al Suffa who dwelt in the Madina mosque and practised poverty
and self-mortification

Reason R: Sufism is not so much a set of doctrines as it is a mode of thinking

In light of the above statements, choose the most appropriate answer from the options given below

ofid A1 werot fGu a1 3 ;. uop sifdrverct (A) & wu 3 filaa 3 @ gar sud orr (R) & »a 3 :
sifdraperet (A) : Hae 3icl JWHI Hissic @ el & St wcion &t ARSI 3 B A MR 3G der e qudl
@RI (R) : IblkA sgd sifera Rigia oI Joat Idell oidl o1 f3idol fb Ak oI asior ar

SWRID Dol @ 3MIclid A, ofid [Gu a1u famcdl 3 A A IUYTD IR DI TqIol DBIfSIT ©



[Question ID = 3864][Question Description = S2_qSNz_PG_CSR_Q89]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) clali 3@l 8 32 (R), (A) &1 3@l =r=n & [Option ID = 15453]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 3d & w3sq (R), (A) &t 3 wm=n o8t & [Option ID = 15454]
3. Ais correct but R is not correct/(A) 3t @ wog (R) 2@t ot & [Option ID = 15455]

4. A'is not correct but R is correct/(A) 3@t siéf 8 wesg (R) &t & [Option ID = 15456]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3fiz (R) cleil 3@l & 3z (R), (A) &t 3@ == & [Option ID = 15453]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: As per Janam Sakhi Literature, a pandit came to offer a Janew for Guru Nanak, but Guru Nanak rejected his
offer

Reason R: Guru Nanak gives new meaning to Janew in his Gurbani

In light of the above statements, choose the correct answer from the options given below

ofid <1 werol Ru s 3¢ uop sifdrverct (A) & wu 3 feiRaa & a g1 3ud orvr (R) & wa 3 :

sifdreperet (A) : STora ARl AFT D SIGRIR IF olield D fRIU S61% @I ydma dip: ufdd 3ie fboq 3oslal 33 dipR @2 &
@Rur (R) : 3% ollel asil o 31ueil Ifsaril 3 SIos @t oril ufdsmur &

JWRITD DIl D IATellD 3, ofd fEu s1v fipedl 3 A AT IUYT IR DI Rl HIFT :

[Question ID = 3865][Question Description = S2_qSNz_PG_CSR_Q90]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) dlall 31 8 3R (R), (A) &t 38 =mz=n & [Option ID = 15457]

2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l 31 & waq (R), (A) & 3t e orét & [Option ID = 15458]
3. Ais true but R is false/(A) 3= 3, afdpat (R) sricr 8 [Option ID = 15459]

4. Ais false but R is true/(A) sric 8, clfdset (R) 3= & [Option ID = 15460]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sfiz (R) glail 31 & 3ik (R), (A) &I 38 =z 8 [Option ID = 15457]

Topic:- 62CSR_B

1) Read the given paragraph carefully and answer the questions that follow

The religion of the Jewish people was first organised out of a momentous religious experience. Moses, a Hebrew in Egypt
who had risen to a remarkably high position at the court, killed an Egyptian who had abused a Hebrew and fled to the
wilderness. There he felt that Jehovah was calling him to help deliver his people from their oppression (Exodus chapters
2&3). Thereupon, Moses appeared as a champion of Hebrew liberty in the name of the "I am that | am". This special name
for the deity in Judaism has long been known as "Jehova", though the original form-probably was "Jahweh" or "Yahveh".

Through various vicissitudes, Moses succeeded in leading the children of Israel out of their servitude in Egypt, and then
through forty years to the borders of their promised land in Palestine. At Mount Horeb (Sinai) amid impressive natural
phenomena of clouds and thundering, the ten commandments were delivered by God himself.

31ofTec DI AraLoliyde ug 3k gl @ IR § ¢

ABdt il I &3t AAYLP Asraygul enfiias 3ol A 31dd b srn  RY &I v RBY ARRI, RRTel crRIIeRI 3 IcciRdoii™ Ug Y @2 fern, a6
By @I a1et Sot arcl v BRfl aIeIi¥e ®I ael BId Sivle 3 $IPT SRI

3ol &l 3ioiHd fdp=al b SIidT 31Ul oIPI¥ad] I SIHol A HTb Dol 3 SUI ABRIAT B 18 I gell Wl & (TTAISA RN 2 + 3) IAD 916 ARRA
'HAE S A E D ot R By rarehioiar @ oiRid @ U 3 Yye 331 2R D foru Aus {9y oIt A1sdl et 3 aga cid AR A SI8ial o wU 3 Siiel
SITAT 381 3 SICTfp el ol IHA: SIEAT ALUAAT ABAS AT

fafSioel aee @ IAR - TG D A1 HRRI DI sRIS D Jdi Dl B3] A Iorh! SRIAT A b B0l 3MiR arci ad &l Ay B0l Ber+dler 3 argr &bt
8% o1l Sswflol o ugaal I Awerdn Bircll sise 8 (Riomé) 3 arcell &l siodias grapfere et sk il &l @wie @ da @i $2av gRI g
eraafeor fow sre

Find out the reason for killing Egyptian by Moses
AR SRI RBR{ cIeIf*®d B AR SiIel BT PRI & -

[Question ID = 3866][Question Description = S2_qSNz_PG_CSR_Q91]

1. Moses appeared as a champion of liberty/#iRrr Farefiolar @ s @ ¥u 3 gae g3 [Option ID = 15461]
2. Out of Moses' religious experience/#iRRI @ enfdfe aroperd @ @RI [Option ID = 15462]

3. Yahweh told him to do so/=m&ds o 33RI ¥ wat [Option ID = 15463]

4. An Egyptian had abused a Hebrew/fiRj}l cmeii¥e ot f&g @1 sireft &t off [Option ID = 15464]

Correct Answer :-



® Moses appeared as a champion of liberty/#iRi1 Faidiorar @ st @ ¥u ¥ yae gan [Option ID = 15461]

2) Read the given paragraph carefully and answer the questions that follow

The religion of the Jewish people was first organised out of a momentous religious experience. Moses, a Hebrew in Egypt
who had risen to a remarkably high position at the court, killed an Egyptian who had abused a Hebrew and fled to the
wilderness. There he felt that Jehovah was calling him to help deliver his people from their oppression (Exodus chapters
2&3). Thereupon, Moses appeared as a champion of Hebrew liberty in the name of the "I am that | am". This special name
for the deity in Judaism has long been known as "Jehova", though the original form-probably was "Jahweh" or "Yahveh".

Through various vicissitudes, Moses succeeded in leading the children of Israel out of their servitude in Egypt, and then
through forty years to the borders of their promised land in Palestine. At Mount Horeb (Sinai) amid impressive natural
phenomena of clouds and thundering, the ten commandments were delivered by God himself.

31o1e8¢ I Araeeilyde ug ik goell d IR G &
Sl <ol oI eel Adyee Ascayvl enfife sropra A s1fdd fopn s Ry @ v By AR, RBRTel RARICRI 3 Iccidoil ug gra o2 form, a6
&g @I a1redl Sol arel v BR]} oleIi¥® @I ael wID Sidlel 3 HPT SR

3ol adl 3iopHd fp b SIBIar 31uel SIPINDI DY GHel A P Dol d HUST ASRIAI @ fé1e 33 getr 381 3 (TIAISA EART 2 + 3) IAD dIc ARKA
'HE S A E D oA uR B Farelioiar @ oIkl @ WU I gade g3 $%aR D 1w U5 [y oIt A1gdt eet 3 g cid FARI A SIBIar @ WU 3 SIiell
SIIAT 261 3 I el ol AHA: SIEAT AU ATEAS T

fafdteol e @ IAR - G D A6 ARIA DI FSRISc D Jcdl DI RBRY 3 Iorbl SRIAT A Hb D! 3R aArcila ad &l Ay D6l BeR+<dlol 3 arcr df
8¢ orchl stefiel e ugdol 3 Awerdr fircll aikse ke (Rio$) 3 arcell & srpdes Yrapferes st iR faeiclt &t aurep & dfa o=t $ar gRI 6
eraafSor fou are

Find out the apt word for the phrase/event of "leading the children of Israel out of servitude in Egypt"
"By 3 sorrscll gcdl &t erIar 3 Jftp 3 agea B0l D fore’ 9rsg / #rcon @ fere I 9156 3 -

[Question ID = 3867][Question Description = S2_qSNz_PG_CSR_Q92]
1. Moses/#iRR1 [Option ID = 15465]

2. Exodus/ua=iisat [Option ID = 15466]

3. Yahweh/arsas [Option ID = 15467]

4. Hebrew/faq [Option ID = 15468]

Correct Answer :-
® Moses/a@Rit [Option ID = 15465]

3) Read the given paragraph carefully and answer the questions that follow

The religion of the Jewish people was first organised out of a momentous religious experience. Moses, a Hebrew in Egypt
who had risen to a remarkably high position at the court, killed an Egyptian who had abused a Hebrew and fled to the
wilderness. There he felt that Jehovah was calling him to help deliver his people from their oppression (Exodus chapters
2&3). Thereupon, Moses appeared as a champion of Hebrew liberty in the name of the "l am that | am". This special name
for the deity in Judaism has long been known as "Jehova", though the original form-probably was "Jahweh" or "Yahveh".

Through various vicissitudes, Moses succeeded in leading the children of Israel out of their servitude in Egypt, and then
through forty years to the borders of their promised land in Palestine. At Mount Horeb (Sinai) amid impressive natural
phenomena of clouds and thundering, the ten commandments were delivered by God himself.

31o1e8¢ I Aaereilyde ug iz goell & 3R § &
gt ol w1 st AAdyera asvayul enfifa siopra A sifdd fovan srn iy @I o g A1, 316l oArIerRT # Sccixdofi ug gra @2 fer, ds
g oI a1redt <ol arcl uap Rl oIRI¥T BT a¢l D SdIT d HBT 3R

Aol &l 3iokHd fop=n b SIgkdr 3ol oRI¥e] DI SIHol A HTb Dol 3 SUI ABRIAT B 18 I gell Wl & (TIASA AR 2 + 3) IAD 916 ARRA
'AE S A E D ol uR By Fareliciar @ oIRId @ WU 3 gade g3 $%aR D fe1U U5 fA91Y oIet Agdl eet 3 g cid HAIRT A SI8Ial @ WU 3 Siloll
SIIAT 261 3 SICHf el olld HA: SIEAT ALUAT ATEAS AT

fafdteol e ® IAR - UG D A6 ARIA DI FSRIsd D Jcdl DI RBRY 3 IoIbl SRIAT A Hb D! IR ArcilA ad &l Ay D6l Ber+<dlol 3 arcr df
8¢ oIl stefiel e ugdol 3 Awerdr fircll aikse ke (Riog) 3 arcell i srpdies Yrapferes o 3R feiclt &t aure & dfa Fari $ar orRI oA
eraafSor g are

Provide the most appropriate title to this passage

33 31gIcds D feru Faiftres Suy ofidfe 3 -
[Question ID = 3868][Question Description = S2_qSNz_PG_CSR_Q93]



Egyptian civilization/firft 2e=rar [Option ID = 15469]

Palestine settlement/werdisft et [Option ID = 15470]

Moses, the orginiser of Yahweh worship/=msds - gslt @1 sIceradl ARRI [Option ID = 15471]
Hebrew language/f&q st [Option ID = 15472]

A W N -

Correct Answer :-
e Egyptian civilization/frf sw=iar [Option ID = 15469]

4) Read the given paragraph carefully and answer the questions that follow

The religion of the Jewish people was first organised out of a momentous religious experience. Moses, a Hebrew in Egypt
who had risen to a remarkably high position at the court, killed an Egyptian who had abused a Hebrew and fled to the
wilderness. There he felt that Jehovah was calling him to help deliver his people from their oppression (Exodus chapters
2&3). Thereupon, Moses appeared as a champion of Hebrew liberty in the name of the "l am that | am". This special name
for the deity in Judaism has long been known as "Jehova", though the original form-probably was "Jahweh" or "Yahveh".

Through various vicissitudes, Moses succeeded in leading the children of Israel out of their servitude in Egypt, and then
through forty years to the borders of their promised land in Palestine. At Mount Horeb (Sinai) amid impressive natural
phenomena of clouds and thundering, the ten commandments were delivered by God himself.

3Io1e8¢ I AaeIeilyded ug iz goell d 3R § &
AgSt ol oI el Adyes Ascayul enfife sopia A s1fdd fovan s Y @I v By AR, RTel SARICRI 3 Iccidofl ug gra @2 ferm, as
39 @I a1redl Sol arcl uap R} oIRI¥e BT ael D SidIeT d HBT 3R

Aol Tl 3iokHd fop=n b SIgkar 3ol oRI¥] DI SIHol A HTb Dol 3 SU ABRIAT B 618 IR gell Wl & (TIAISA AR 2 + 3) IAD 916 ARRA
'AE S A E D ol UR Bg Fareliciar @ oIRId @ WU 3 gade g3 $%aR D fe1U U5 f[A91Y oIet Agdl edt 3 g cid HAIRT A SIBIal @ WU 3 Siloll
SIIAT 261 3 I el ol AHA: SIEAT LUl ATEAS AT

fafdteol e ® IAR - TG D dIG ARIA DI FSRIsc D Jcdl DI RBRY 3 IoIbl SRIAT A b D! 3R ArcilA ad &l Ay D6l BeR+dlol 3 arcr df
8¢ oIl swefiel e ugdol 3 Awerdr fircll aise ke (Riog) 3 arcell & srapdies Yrapferes o 3R feicht &t aurep & dfa o=t $0ar gRI g
eraafSor g are

Identify the feeling of Moses about his vocation
3ol sl e or (AIdoreT) & a3 HIRRT &bt sroayfer 3 -

[Question ID = 3869][Question Description = S2_qSNz_PG_CSR_Q94]

Killing the Egyptians/firft smeif¥mi @t ser [Option ID = 15474]

. Settling in Egypt/fry 3 et [Option ID = 15475]

Settling in Mount Horeb/#se 83 3 @=iol [Option ID = 15476]

To help deliver his people from their oppression/garet fopu S 38 3ol cilsil Pt b 3 Igg Ban [Option ID = 15473]

A WN =

Correct Answer :-
e To help deliver his people from their oppression/cdter fébe S 3 3ol clsil bt Jfeh 3t 3G e [Option ID = 15473]

5) Read the given paragraph carefully and answer the questions that follow

The religion of the Jewish people was first organised out of a momentous religious experience. Moses, a Hebrew in Egypt
who had risen to a remarkably high position at the court, killed an Egyptian who had abused a Hebrew and fled to the
wilderness. There he felt that Jehovah was calling him to help deliver his people from their oppression (Exodus chapters
2&3). Thereupon, Moses appeared as a champion of Hebrew liberty in the name of the "l am that | am". This special name
for the deity in Judaism has long been known as "Jehova", though the original form-probably was "Jahweh" or "Yahveh".

Through various vicissitudes, Moses succeeded in leading the children of Israel out of their servitude in Egypt, and then
through forty years to the borders of their promised land in Palestine. At Mount Horeb (Sinai) amid impressive natural
phenomena of clouds and thundering, the ten commandments were delivered by God himself.

SHoIDG B AEToRyd® ud 3 gl B e & ©

I5dl cliell oI e AdyA Fevayul enfdfcs siopd A s1fdd v s RBRY T v B3Y ARRI, RRIel ARIICRI 3 Iccldoiik Us Yrd o o, a6
39 oI a1redl Sol arcl uap [IRfl oIPI¥d BT a¢l BID SdIcT 3 HPT IR

Aol Gl 3IkHd fp=ll b SIBIdT 31Ul IRI¥] I SIHol A HTb Dol 3 SUN ABRIAT B {18 I gell Wl & (TTATSA AR 2 + 3) IAD 916 ARRA
‘A E S A E D ol UR 3g Farelioidr @ oIRId @ WU 3 Yade g3 $%aR D fe1e U5 fA91Y oIer Augdl &ei 3 93 cid AR A SIslal @ WU 3 Siloll
SIIAT 361 3 SICHfp el olld HHA: SIEAT AUl ATEAT AT

fafdteol e @ IAR - TG D dIG ARIA DI FSRISc D Jcdl DI BRY 3 IoIhl SRIATI A Hb D! 3R ArcilA ad &l Ay D6l Ber+dlol 3 darer &i
8% Jorcbl steflel ao ugaal I Awerdr Brcll a1Ese 8Ra (Rioié) 3 arcell &l sodas grafere Face sk [srcll &l wie @ da @i $2av gRI g
eEfSor fou a1



Identify the promised land of the Jews
gfe:il bt arcr bi g¢ yldr 3 -

[Question ID = 3870][Question Description = S2_qSNz_PG_CSR_Q95]
Egypt/figg [Option ID = 15477]

Sinai/Rmemg [Option ID = 15478]

Babylonia/afelrer [Option ID = 15479]

Palestine/werdior [Option ID = 15480]

AW N =

Correct Answer :-
e Egypt/fiy [Option ID = 15477]

Topic:- 62CSR_C

1) Read the given passage carefully and answer the questions that follow

Great Britain continued to dominate Transjordan between World Wars | and Il, largely through annual financial support to
Abdullah, support which increased from about $500,000 a year in the 1920's to $1000,000 in 1939. Britain had two military
forces in Transjordan. First, there was the Arab Legion organised in 1921 by Captain Peake of the Egyptian Camel Corps. It
was planned as a police force, but it defended the frontiers from Beduin infiltration. Originally it had no desert section and
no airplanes; but after 1930 it expanded and blossomed into one of the most significant military forces in the Middle East.
Although under the command of the Prince of Transjordan, it received five-sixths of its financial requirements direct from
the British treasury. In the treaty of 1920, provision was made for the formation of the Transjordan Frontier Force under
the direct control of the high commissioner, since he was responsible for Transjordanian foreign affairs and protection of her
frontiers. Both armies were instruments of the British government in the Middle East. They served to protect the frontiers
of Palestine, Transjordan and Iraq from raids by Ibn Saud and to maintain and police the corridor between Iraq and
Transjordan through which ran the oil pipeline from Kirkuk to Haifa. Transjordan not only was an anchor for the British
position in the Middle East but also stood as an important link in her empire. Prince Abdullah performed well for the British
and they sustained him in a dignified manner.

forgaifeiRae srerior ool ug iz gooil B IR S ¢

Soll AL D i A ISoT (CRIsIEer) UR feer I YoIea w61 WRIAR A 3A Rl AsrIar &t asis A Sit s sregeel oY ST o A Asrar 1920
@ gorp 3 $500,000 srrsidhY st off sit 1939 & agmz $1000,000 &t srft et & <Y Ao orftpat 3ot of off  uacll 3Rw dIstor (Arab
Legion) BRI BRfl 33¢i &I Ao D dreat Ui (Peake) of 1971 3 JHo1fdd b= e a6 gferRT o @ WU 3 AHorfdd off w1 Masii ur agsii Hr
FRIUG DI A<l fl GIBRICI $HD URI of DI IR spier o 3R o 3 zars sleral dftber 1930 @ a6 s@I AR 331 3 A e UORN
&l qaifere Ascayul Ae 91ftp o61 Rl A=t $3AhI TIPSR 3ol @ YA D a1er 3 off sADI fRreiRT SReel @I 6 31 A 5 HIPT )il ASTPIY A 3rdr
e 1928 <t zifer 3 M8 Ica IRD D olgea A <ot e a1 @ forafor w1 gaer fpem sk ariifes adl 3¢or @ fAagoft Fmerctl siiz 331 &t Harsil b
IR D fere PBredicR ar

s Gloll 81 Aole fJfeor R &t FIeaygd 3 Arere off siiz Ioaiol fisferediol, 3ot 3R $A® b FHa13il B S°01 A6 D BIUL A 281 IR AP 3R
3ol D dia A IYSel drcl 3A PSR I 9ff 381 B BRI fbvay® A s1ew! Siekarc de ursu arsel afsRedl eft 3gor weyd 3 o @ ferg o Rre
g AEcayul o1 At 37D ARYSA Bl v ggd Aecagul B3l ofl U1 sregeet of 3iF)El @ ferw 3rdt yfdrnt BRIRD 3iik Iodlol oft AsaTeIgd®
Jo1chl gferssr &bt

The above passage gives an account of
SWRITH 3IIcd6 SADI Tl SIRAT Sl 3 -

[Question ID = 3871][Question Description = S2_qSNz_PG_CSR_Q96]

1. Britain's Russia Policy/f§eer =1 ofifer [Option ID = 15481]

2. Britain's hatred of the Arabs/f¢st &t sra @ yfer gun [Option ID = 15482]

3. Britain's financial aid to Transjordan/gimiSer @ fqcer &t anféfes Jarir [Option ID = 15483]
4. Britain's involvement in the cold war/offeR]g df f§at &t amsficrt [Option ID = 15484]

Correct Answer :-
® Britain's Russia Policy/fear 31 sfifer [Option ID = 15481]

2) Read the given passage carefully and answer the questions that follow

Great Britain continued to dominate Transjordan between World Wars | and Il, largely through annual financial support to
Abdullah, support which increased from about $500,000 a year in the 1920's to $1000,000 in 1939. Britain had two military
forces in Transjordan. First, there was the Arab Legion organised in 1921 by Captain Peake of the Egyptian Camel Corps. It
was planned as a police force, but it defended the frontiers from Beduin infiltration. Originally it had no desert section and
no airplanes; but after 1930 it expanded and blossomed into one of the most significant military forces in the Middle East.
Although under the command of the Prince of Transjordan, it received five-sixths of its financial requirements direct from
the British treasury. In the treaty of 1920, provision was made for the formation of the Transjordan Frontier Force under
the direct control of the high commissioner, since he was responsible for Transjordanian foreign affairs and protection of her
frontiers. Both armies were instruments of the British government in the Middle East. They served to protect the frontiers
of Palestine, Transjordan and Iraq from raids by Ibn Saud and to maintain and police the corridor between Iraq and



Transjordan through which ran the oil pipeline from Kirkuk to Haifa. Transjordan not only was an anchor for the British
position in the Middle East but also stood as an important link in her empire. Prince Abdullah performed well for the British
and they sustained him in a dignified manner.

foetferRaea srerior @ ug 3iiz geoll & IR S -

Sloll ABRIGI D dia 3 IGaT (TRISISO) UR f¢aT DI YeIrd W61 TRIAR A 3A ARkl AsRIAT &Y aste A Sl a6 3fegeddl dI odl AT As AsrIar 1920
o gorp 3 $500,000 st s1crR off sit 1939 & agmz $1000,000 3t srft et & <Y Aow orfevat 3ot o off  uachl srRa distor (Arab
Legion) BRI BRft 35¢1 &I Ao & dreat Ui (Peake) of 1971 3 JHo1fda fop=n e A6 gferRt act & wu 3 AHorfdd off e fiamsil uz agsii b
AU @l Awdl ofl GIBRICT 3AD URI of DI IBRIGH ypIeT AT 3i1R of & sard sl Afdpel 1930 @ a6 AP RRWAR 3311 3R As HeA TORT
&l aifere Astayul e 9Itp oo1 Rl JeIftl 31l APk 34a1 @ A D a1ex 3 off sADI iRl SRedl @I 6 3 A 5 P! i) ASTPIY A smar
er 1928 bt 2ifer 3 M 3ca ARED D olgea A 3&a e aa1 D fortiur o1 gaer b srRi aRiifs adl 3éa & ol amercll siiz 321 6t 2femsii bt
J381 D fere Rredicr ar

205 3ol 31 ol fJfeer IR &I aIeaygd 3 Arere i 3iiv Ioaiol fibferdiol, I¢at 3R $A® DI HIAT3II DI so0l A6 D BIUI A W 3R AP 3R
3ol D oI A IR0l dicl 3A DRISR &I o 2811 DI BRI [ A sIewI Siioldredl el Ursy cisel skl ol 31 Heayd 3 et @ fere of RBie
dgd AsTayyi oI dfcd 3AD AU DI Tb 9gd HAstayui st i A sregeedl of 3iv)ll @ fere sreet yfdiapt forrdl siiz Ioalol 9t FFdATIYdDd
Jo1chl gfersor &bt

The passage describes:
3ojcdds 3 carea i IRl 3 -

[Question ID = 3872][Question Description = S2_qSNz_PG_CSR_Q97]

1. The role of Britain in the formation and training of the Transjordanian Army/ci1 SiiSforIel Wist @ s1cal 3R yfsreivr 4 et bt gfdrat [Option ID = 15485]
2. Britain's dislike of Ibn Saud/sset 336 @ yfer et Bt amuicsft [Option ID = 15486]

3. Abdullah's hatred for Britain/fqget @ yfer siegeen &t oiwaa [Option ID = 15487]

4. Economic interests of Britain in Russia/=1 3 fqgar @ anféfes faa [Option ID = 15488]

Correct Answer :-
e The role of Britain in the formation and training of the Transjordanian Army/ci Siisforrer wist @ sioor 3ii? yforevn 3t f§ear &t gpfirar [Option ID = 15485]

3) Read the given passage carefully and answer the questions that follow

Great Britain continued to dominate Transjordan between World Wars | and Il, largely through annual financial support to
Abdullah, support which increased from about $500,000 a year in the 1920's to $1000,000 in 1939. Britain had two military
forces in Transjordan. First, there was the Arab Legion organised in 1921 by Captain Peake of the Egyptian Camel Corps. It
was planned as a police force, but it defended the frontiers from Beduin infiltration. Originally it had no desert section and
no airplanes; but after 1930 it expanded and blossomed into one of the most significant military forces in the Middle East.
Although under the command of the Prince of Transjordan, it received five-sixths of its financial requirements direct from
the British treasury. In the treaty of 1920, provision was made for the formation of the Transjordan Frontier Force under
the direct control of the high commissioner, since he was responsible for Transjordanian foreign affairs and protection of her
frontiers. Both armies were instruments of the British government in the Middle East. They served to protect the frontiers
of Palestine, Transjordan and Iraq from raids by Ibn Saud and to maintain and police the corridor between Iraq and
Transjordan through which ran the oil pipeline from Kirkuk to Haifa. Transjordan not only was an anchor for the British
position in the Middle East but also stood as an important link in her empire. Prince Abdullah performed well for the British
and they sustained him in a dignified manner.

forgotferfaa srerior @I ug 3iiz goall @ IR S ¢

Sloll BRI @ & 3 3ol (CRISISI) UR el @l yggrd @1 WRIAR A 3A forii AsrIar &I asie A Sl ds sfegeedl I o a1 A6 Asriar 1920
@ gorm 3 $500,000 sErsichl s1er off St 1939 & sgwe $1000,000 &t orft fyRor & < Ao orfepal séat & off  uscl 3Ra dstar (Arab
Legion) fSrRI BRY &¢I 6t Ao & Breat tiw (Peake) o1 1971 3 Jorfda fovar e as yfery a1 @ wu ¥ dorfda off s Miamsit uz agsit b
HAUS DI Awmdl el GIBRACT AD URT of DI IBRIoll YHBT T 312 of 8t sars sierst cfdvel 1930 @ 16 $ADI AR 8311 3R As AR ORI
&1 Jaifere Asrayyl dea o1ftp ao1 Rt J=eIftl 31l AP 361 @ [ & arex 3 off sAhl iRl SRedl @I 6 3 A 5 P! ) ASTPIY A 3mar
em 1928 <t 3ifer 3 M 3ca RS D olgea A 3ot e a1 @ forrior @1 Yaer o srRI aRilfes adl 3¢a & fageft amercll siiz 321 &bt 2femsii bt
A28l D fere edicr e

5 <ol 81 Aol [Yfeer IvpR & Aeayd 3 rerot off siiz 3oslel fibferz<ilotr, 3¢ot 3iiz s bl AHlasii Bl seol AHc D BIUl A 811 3R AP 3R
3ol D diar A el drcl 3A DIISK &t 9t 38 BI R fbrpd A FIQWI SileidIcdl el Ursu cirsol sl eft 3got areayd d feor @ ferg o1 1w
g5 Aecayyl AT dfcd IAD AISA DI Tb dgd Ascaqul B3l o TR sregea of 3iv)sll @ fe1u sl 33t forril 3iie Ioaior off AFATGIYAD
Jorcbl gfersor bt

As per the above passage, the correct statement regarding Prince Abdullah is:
IWRITD 3MoIedT D SRR i1 sregeeie @ a3 A& oot 8 -
[Question ID = 3873][Question Description = S2_qSNz_PG_CSR_Q98]



He was in touch with his exiled father/as foraif3ta fiar @ iucs 3 em [Option ID = 15489]

He had cordial relations with Ibn Saud/sser 3356 @ el 33D 3 Ader A [Option ID = 15490]
He served the British well/3%01 sl ae [§eat &t 3ar & [Option ID = 15491]

He fought the British/az fdgar @ fag ers1 [Option ID = 15492]

A W N -

Correct Answer :-
® He was in touch with his exiled father/as fomaif¥r fiar @ 2iuas & e [Option ID = 15489]

4) Read the given passage carefully and answer the questions that follow

Great Britain continued to dominate Transjordan between World Wars | and Il, largely through annual financial support to
Abdullah, support which increased from about $500,000 a year in the 1920's to $1000,000 in 1939. Britain had two military
forces in Transjordan. First, there was the Arab Legion organised in 1921 by Captain Peake of the Egyptian Camel Corps. It
was planned as a police force, but it defended the frontiers from Beduin infiltration. Originally it had no desert section and
no airplanes; but after 1930 it expanded and blossomed into one of the most significant military forces in the Middle East.
Although under the command of the Prince of Transjordan, it received five-sixths of its financial requirements direct from
the British treasury. In the treaty of 1920, provision was made for the formation of the Transjordan Frontier Force under
the direct control of the high commissioner, since he was responsible for Transjordanian foreign affairs and protection of her
frontiers. Both armies were instruments of the British government in the Middle East. They served to protect the frontiers
of Palestine, Transjordan and Iraq from raids by Ibn Saud and to maintain and police the corridor between Iraq and
Transjordan through which ran the oil pipeline from Kirkuk to Haifa. Transjordan not only was an anchor for the British
position in the Middle East but also stood as an important link in her empire. Prince Abdullah performed well for the British
and they sustained him in a dignified manner.
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Sloll BRI @ dia 3 3ol (CRISISI) UR el T yggrd @l WRIAR A 3A forii AsrIar &I asie A Sl ds sfegeedl Pl o a1 A6 Asriar 1920
@ gor 3 $500,000 sErsichl s1er off S 1939 3 sgwe $1000,000 2t orft fyRor & <t Ao orfepaf séar & off  uscll 3rRa dstor (Arab
Legion) fSrRI BRY 31 6t Ao & Breat i (Peake) o1 1971 3 Jorfda fopar e a6 yfery aar @ wu 3 Horfda off s Mamsit ur agsit b
HAUS I Awmdl el GIBRICT AD URT of DI IBRIoll YHBT T 312 of 8t zars sieret cfdvel 1930 @ dI6 $ADI AR 8311 3R Us AR ORI
&l Jaifere Aecagul Aea oIt o6l sRfl A=t 3D APRR o1 D A D arer 3 2t sd! frdla SRevdl @1 6 3 A 5 91T 3iP)SH ASTPIY A 31ren
er 1928 bt 2ifer 3 M 3ca RS D olgea I ISat e a1 @ forrior o1 Yeer e srRi aRilfes adl 3¢a & fageft amerctl siiz 321 &bt 2femsit bt
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45 <ol 81 Aol [Yfeer IrpR & Aeayd 3 rerot off siiz 3oslel fblerz<ilotr, 3¢ot 3iiz s bl AHlasil Bl so0l AHc D BIUl A 811 3R AP 3R
3ol D dla A Ysiel drcl 3A DS &t 9t 38 BI R fbrapd A FIQWI SileidIcdl el Ursu cirsol sl eft 3go1 areayd # ot @ ferg of 1w
gd AsTayui o1 dfcd 3D AHISA DI Tb dgd Hswaygul sl oA YA sregeett of 3iv)sll @ fe1e et Y3t fomiril 3R 3oaiol 9l Ty
Jordbl gfersor bt

The purpose of the Transjordan Army was
CiSlISol WisT T 3293 o -

[Question ID = 3874][Question Description = S2_qSNz_PG_CSR_Q99]
1. To prevent the expansion of Jews in Palestine/fbfereilor i feRil @ AR @t Awon [Option ID = 15493]
2. To protect Britain's economic/oil interests as well as the frontiers from raids by Ibn Saud/seer 3356 @& il 3 e e i ol D aufdfes / et Farelt A
qarel [Option ID = 15494]
3. To check the rise of communism in the Arab world/3rRa gforif 3 J@RIaG @ 3R @I Adon [Option ID = 15495]
4. To accomodate the USA in the Middle East/aer ufdrn 3 sm@if¥at ot a1fder awzonr [Option ID = 15496]

Correct Answer :-
e To prevent the expansion of Jews in Palestine/fiferzeior 3t =1sferil @ far @1 Awen [Option ID = 15493]

5) Read the given passage carefully and answer the questions that follow

Great Britain continued to dominate Transjordan between World Wars | and Il, largely through annual financial support to
Abdullah, support which increased from about $500,000 a year in the 1920's to $1000,000 in 1939. Britain had two military
forces in Transjordan. First, there was the Arab Legion organised in 1921 by Captain Peake of the Egyptian Camel Corps. It
was planned as a police force, but it defended the frontiers from Beduin infiltration. Originally it had no desert section and
no airplanes; but after 1930 it expanded and blossomed into one of the most significant military forces in the Middle East.
Although under the command of the Prince of Transjordan, it received five-sixths of its financial requirements direct from
the British treasury. In the treaty of 1920, provision was made for the formation of the Transjordan Frontier Force under
the direct control of the high commissioner, since he was responsible for Transjordanian foreign affairs and protection of her
frontiers. Both armies were instruments of the British government in the Middle East. They served to protect the frontiers
of Palestine, Transjordan and Iraq from raids by Ibn Saud and to maintain and police the corridor between Iraq and
Transjordan through which ran the oil pipeline from Kirkuk to Haifa. Transjordan not only was an anchor for the British
position in the Middle East but also stood as an important link in her empire. Prince Abdullah performed well for the British
and they sustained him in a dignified manner.
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Sloll #BRLGI @ dier 3 3¢el (CRISISel) UR et I ggird 361 WRIAR A 3A faedlr srIar &l asis A Sil 96 sfegeedl @l ST a1 A8 AsRIAr 1920
@ gor i $500,000 srrsichl s1er off St 1939 & sgwe $1000,000 3t srft fyRor &t <t Ao orfeaf séor & off  uscll 3Ra dstor (Arab
Legion) fSr1 BRf &1 &I Ao @ drear Ui (Peake) of 1971 3 Jio1fda fivem e A6 gfert ae1 @ wu 3 Hoifsa off s fiamsil uz agsii oF
HAUS DI Awmdl el GWBRICT AD URT of DIS IBRI6ll YHBT oI 3R of 8 zars sieret cfdpel 1930 @ a1 $APDT ARAR 831 3R U8 AR ORI
&l Jaifere devaygul e oIt &6l sRft eIt 3D PRI o1 @ A D a1er 3 ft sd! frdl SRevdl @1 6 3 A 5 91197 3iE)SH ASIPIY A 3rren
em 1928 <t 3ifer 3 M 3ca RS D olgea A ISat e a1 D forrior o1 Yaer e srn aRiifes adl 3¢a & fagelt amerctl siiz 31 &t femsit bt
A2l D fere Fdicr e

15 <ol 8l Al [Yfeor AvpR &l reayd 3 Areret off siiz 3oslel fibferz<ilotr, 3¢o1 3iik s bl Hlasii Bl so0l AHc D BIUI A 811 3R AP 3R
3¢o1 D ol A IERol drdl 3A DRISR &I off 2811 I RRRY fpepd 21 s1Uw! Soldrcdl e ursy cisel JsRdl ot 3o Feayd 3 [eat @ fere of R
g sAsTayul o1 afed IAD AHSA DI v dgd Hswaygul st oAl {1 sregeett of 3iv)sll @ fore et yfdiopT foriril 3R 3oaiol ol eIy
Jo1cbl gferssr bt

The Arab Legion was raised in 1921 by
3R cfifSisrer 1921 31 351D GRT IURT SRI -
[Question ID = 3875][Question Description = S2_qSNz_PG_CSR_Q100]

1. Army experts from the USA/3mRlet @ 3Jor fdiusit grt [Option ID = 15497]

2. An Arab general from Egypt/fir] @ sra soret grr [Option ID = 15498]

3. Captain Peake/uret did grr [Option ID = 15499]

4. The Jews, to extract political favours from Jordan in future/=sfe=ii 31 sifdrer 3t Siiset 3 Istohiferd et clonr & [Option ID = 15500]

Correct Answer :-
e Army experts from the USA/spiter & 3en fagdsil grr [Option ID = 15497]





